
Semester V

15PAU502 CORE – APPLIED COST ACCOUNTING
___________________________________________________________________________
COURSE OBJECTIVE

 Applied Cost Accounting represents the concepts on costing, material control,

overhead costing, job costing and contract costing.

 This paper gives the basic concepts of tools and techniques of inventory control, batch

costing, process costing and job costing.

LEARNING OUTCOME

 To familiarize students with the various concepts in costing.

 To make the students to understand the elements of cost.

 To enhance the student knowledge on overhead costing.

Unit I

Meaning of Cost – Costing – Cost Accounting and Cost Accountancy – Cost Units – Cost

Centre – Classification of Costs – Methods of Costing – Techniques – Cost Sheet Preparation

- Advantages and Disadvantages of Cost Sheet, Installation of New Costing Techniques.

Unit II

Material Control – Procurement Procedure – Issue of Inventories under Various Methods –

computation of stock levels – EOQ – Perpetual Inventory System – Labour Costing - Time

Rate, Piece Rate System, Methods of Payment by Result – Determination of Labour Turn

over Under Various Methods

Unit III

Overhead Costing – Methods of Allocation – Determination of Overhead Rates – Functional

Analysis – Factory, Administration, Selling and Distribution Over Heads Book Keeping –

Non Integrate Accounts – Integrate Accounts.

Unit IV

Job costing – Batch Costing – Application of Job Costing – Reconciliation of Cost and

Financial Accounts – Operating Costing.

Unit V

Contract Costing – Progress Payment – Retention Money – Escalation Claim – Contract

Account – Process Account – Normal Loss – Abnormal Loss – Equivalent Units – Inter

Process Profit – Joint Product – By Product.
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Note: Distribution of marks for theory and problems shall be 20% and 80% respectively.
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S. No Lecture
Duratio
n Period

Topics to be Covered Support
Material/Page

Nos.
UNIT-I

1. 1 Introduction to Materials, Meaning of material

control

T: II 3-4.

2. 1 Procedure involved in material procurement T: II 43-48.

3. 1 Inventories issues under various methods T: II 62-67.

4. 1 Problems to be worked out in FIFO and LIFO

method.

T: II 62-67.

5. 1 Fixation of stock levels T: II 11.

6. 1 Economic Ordering Quantity (EOQ). T: II 12.

7. 1 ABC analysis and T: II 21-23.

8. 1 Perpetual inventory system. T: II -23.

9. 1 Introduction of labour costing and T: II 153-154.

10. 1 Payment of wages under time rate T: II 153-156.

11. 2 Methods of payment by result and T: II 154-159.

12. 1 Problems to be worked out in piece rate system. T: II 154-159.

13. 1 Determination of labour turnover under various

methods

T: II 109.

14. 1 Recapitulation and discussion of important

questions



Lesson Plan 2015 -2018
Batch

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE 2

Total No of Hours Planned  For  Unit 1=15

UNIT-II

1. 1 Introduction to Materials, Meaning of material

control

T: II 3-4.

2. 1 Procedure involved in material procurement T: II 43-48.

3. 1 Inventories issues under various methods T: II 62-67.

4. 1 Problems to be worked out in FIFO and LIFO

method.

T: II 62-67.

5. 1 Fixation of stock levels T: II 11.

6. 1 Economic Ordering Quantity (EOQ). T: II 12.

7. 1 ABC analysis and T: II 21-23.

8. 1 Perpetual inventory system. T: II -23.

9. 1 Introduction of labour costing and T: II 153-154.

10. 1 Payment of wages under time rate T: II 153-156.

11. 2 Methods of payment by result T: II 154-159.

12. 1 Problems to be worked out in piece rate system. T: II 154-159.

13. 1 Determination of labour turnover under various

methods

T: II 109.

14. 1 Recapitulation and discussion of important

questions

Total No of Hours Planned For  Unit II=15

UNIT-III

1. 1 Overhead : Meaning, definition T: II 193-196

2. 1 Classification of overheads T: II 193-196

3. 1 Allocation and apportionment of overheads T: II 210-212

4. 1 Elements of overhead T: II 210-212

5. 1 Problems to be worked out on primary

distribution

T: II 249-259
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6. 1 Problems to be worked out on Secondary

distribution

T: II 249-259

7. 1 Determination of Overhead rates T: II 210

8. 1 Functional analysis T: II 280

9. 1 Treatment of factory overheads T: II 280

10. 1 Treatment of administration overheads T: II 281.

11. 1 Treatment of selling and distribution overheads T: II 289-290

12. 1 Problems to be worked out on selling and

distribution overheads

T: II 289-290

13. 1 Book keeping and non-integrate accounts T: III 58

14. 1 Integrate accounts T: III 57

15. 1 Recapitulation and discussion of important

questions

Total No of Hours Planned For  Unit III=15

UNIT-IV

1. 2 Meaning of Job costing and features of job

costing

T: IV 3-5.

2. 2 Problems to be worked out on Job costing T: IV 6-8.

3. 1 Determination of Economic Batch Quantity

(EBQ).

R5: 449-450

4. 2 Problems to be worked out on batch costing and

economic batch quantity

R5: 450-451

5. 2 Reconciliation of cost and financial accounts T: III 29.

6. 2 Meaning and features of operating costing T: IV 90-91.

7. 1 Recapitulation and discussion of important

questions

Total No of Hours Planned For  Unit IV=12

UNIT-V
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1. 2 Contract costing : meaning and features T: IV-19

2. 1 Meaning of progress payment, retention money

and escalation claim.

W1

3. 2 Computation of profit on incomplete contracts T: IV-23

4. 1 Preparation of contract accounts T: IV 23-26

5. 2 Meaning and features of process costing and

preparation of process accounts

T: IV 130-133

6. 2 Calculation of normal loss and abnormal loss T: IV 134-136.

7. 1 Meaning and calculation of Equivalent units T: IV 144-146.

8. 2 Computation of inter process profits T: IV 139-143.

9. 1 Meaning of Joint products and By-products T: IV 188-196.

10. 1 Recapitulation and discussion of important

questions

11. 1 Revision:

Discussion of Previous ESE Question papers

12. 1 Discussion of Previous ESE Question papers

13. 1 Discussion of Previous ESE Question papers

Total No of Hours Planned for  Unit V=18

Total
Planned
Hours

75
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UNIT-I

SYLLABUS

Meaning of Cost – Costing – Cost Accounting and Cost Accountancy – Cost Units – Cost Centre

– Classification of Costs – Methods of Costing – Techniques – Cost Sheet Preparation -

Advantages and Disadvantages of Cost Sheet, Installation of New Costing Techniques.

INTRODUCTION

Cost Accounting is a branch of accounting and has been developed due to limitations of

financial accounting. Financial accounting is primarily concerned with record keeping directed

towards the preparation of Profit and Loss Account and Balance Sheet. It provides information

regarding the profit and loss that the business enterprise is making and also its financial position

on a particular date. The financial accounting reports help the management to control in a general

way the various functions of the business but it fails to give detailed reports on the efficiency of

various divisions. The limitations of Financial Accounting which led to the development of cost

accounting are as follows.

Limitations of Financial Accounting

1. No clear idea of operating efficiency: Sometimes profits in an organization may be less or

more because of inflation or trade depression and not due to efficiency or inefficiency. But

financial accounting does not give a clear reason for profit or loss.

2. Weakness not spotted out by collective results: Financial Accounting shows the net

result of an organization. When the profit and loss account of an organization, shows less

profit or a loss, it does not give the reason for it or it does not show where the weakness

lies.

3. Does not help in fixing the price: In Financial Accounting, we get the total cost of

production but it does not aid in determining prices of the products, services, production

order and lines of products.

4. No classification of expenses and accounts: In Financial Accounting, we don’t get data

relating to costs incurred by departments, processes separately or per unit cost of product

lines, or cost incurred in various sales territories. Further expenses are not classified as
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direct or indirect, controllable and uncontrollable overheads and the value added in each

process is not reported.

5. No data for comparison and decision making: It does not supply useful data to

management for comparison with previous period and for taking various financial decisions

as introduction of new products, replacement of labour by machines, price in normal or

special circumstances, producing a part in the factory or buying it from outside market,

production of a product to be continued or given up, priority accorded to different products,

investment to be made in new products or not etc.

6. No control on cost: Financial Accounting does not help to control materials, supplies,

wages, labour and overhead costs.

7. Does not provide standards to assess the performance: Financial Accounting does not

help in developing standards to assess the performance of various persons or departments.

It also does not help in checking that costs do not exceed a reasonable limit for a given

quantum of work of the requisite quality.

8. Provides only historical information: Financial Accounting records only the historical

costs incurred. It does not provide day-to-day cost information to the management for

making effective plans for the future.

9. No analysis of losses: It does not provide complete analysis of losses due to defective

material, idle time, idle plant and equipment etc.. In other words, no distinction is made

between avoidable and unavoidable wastage.

10. Inadequate information for reports: It does not provide adequate information for reports

to outside agencies such as banks, government, insurance companies and trade associations.

11. No answer for certain questions: Financial Accounting will not help to answer questions

like:-

(a) Should an attempt be made to sell more products or is the factory operating to capacity?

(b) if an order or contract is accepted, is the price obtainable sufficient to show a profit?

(c) if the manufacture or sale of product A were discontinued and efforts make to increase

the sale of B, what would be the effect on the net profit? (d) Why the profit of last year is

of such a small amount despite the fact that output was increased substantially? Etc.

Costing and Cost Accounting
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The costing terminology of C.I.M.A ., London defines costing as the “the techniques and

processes of ascertaining costs”. These techniques consist of principles and rules which govern

the procedure of ascertaining cost of products or services. The techniques to be followed for the

analysis of expenses and the processes by which such an analysis should be related to different

products or services differ from industry to industry. These techniques are also dynamic and they

change with time.

The main object of traditional cost accounts is the analysis of financial records, so as to

subdivide expenditure and to allocate it carefully to selected cost centers, and hence to build up a

total cost for the departments, processes or jobs or contracts of the undertaking. The extent to

which the analysis of expenditure should be carried will depend upon the nature of business and

degree of accuracy desired. The other important objective of costing are cost control and cost

reduction.

Cost Accounting may be regarded as “a specialized branch of accounting which involves

classification, accumulation, assignment and control of costs.” The costing terminology of

C.I.M.A, London defines cost accounting as “the process of accounting for costs from the point

at which expenditure is incurred or committed to the establishment of its ultimate relationship

with cost centres and cost units. In its widest usage, it embraces the preparation of statistical

data, the application of cost control methods and the ascertainment of profitability of activities

carried out or planned”.

Wheldon defines cost accounting as “classifying, recording and appropriate allocation of

expenditure for determination of costs of products or services and for the presentation of suitably

arranged data purposes of control and guidance of management”. It is thus a formal mechanism

by means of which costs of products or services are ascertained and controlled.

Objectives of Cost Accounting

Cost accounting aims at systematic recording of expenses and analysis of the same so as

to ascertain the cost of each product manufactured or service rendered by an organization.

Information regarding cost of each product or service would enable the management to know

where to economize on costs, how to fix prices, how to maximize profits and so on. Thus, the

main objectives of cost accounting are the following.

1. To analyse and classify all expenditure with reference to the cost of products and
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operations.

2. To arrive at the cost of production of every unit, job, operation, process, department or

service and to develop cost standard.

3. To indicate to the management any inefficiencies and the extent of various forms of

waste, whether of materials, time, expenses or in the use of machinery, equipment and

tools. Analysis of the causes of unsatisfactory results may indicate remedial measures.

4. To provide data for periodical profit and loss accounts and balance sheets at such

intervals, e.g. weekly, monthly or quarterly as may be desired by the management during

the financial year, not only for the whole business but also by departments or individual

products. Also, to explain in detail the exact reasons for profit or loss revealed in total in

the profit and loss accounts.

5. To reveal sources of economies in production having regard to methods, types of

equipment, design, output and layout. Daily, Weekly, Monthly or Quarterly information

may be necessary to ensure prompt constructive action.

6. To provide actual figures of costs for comparison with estimates and to serve as a guide

for future estimates or quotations and to assist the management in their price fixing

policy.

7. To show, where Standard Costs are prepared, what the cost of production ought to be and

with which the actual costs which are eventually recorded may be compared.

8. To present comparative cost data for different periods and various volume of output and

to provide guidance in the development of business. This is also helpful in budgetary

control.

9. To record the relative production results of each unit of plant and machinery in use as a

basis for examining its efficiency. A comparison with the performance of other types of

machines may suggest the necessity for replacement.

10. To provide a perpetual inventory of stores and other materials so that interim Profit and

Loss Account and Balance Sheet can be prepared without stock taking and checks on

stores and adjustments are made at frequent intervals. Also to provide the basis for

production planning and for avoiding unnecessary wastages or losses of materials and

stores.
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Last but not the least, to provide information to enable management to make short term

decisions of various types, such as quotation of price to special customers or during a slump,

make or buy decision, assigning priorities to various products, etc.

Importance of Cost Accounting

The limitations of financial accounting have made the management to realize the

importance of cost accounting. Whatever may be the type of business, it involves expenditure on

labour, materials and other items required for manufacturing and disposing of the product. The

management has to avoid the possibility of waste at each stage. It has to ensure that no machine

remains idle, efficient labour gets due incentive, by-products are properly utilized and costs are

properly ascertained. Besides the management, the creditors and employees are also benefited in

numerous ways by installation of a good costing system. Cost accounting increases the overall

productivity of an organization and serves as an important tool, in bringing prosperity to the

nation, thus, the importance of cost accounting can be discussed under the following headings:

a) Costing as an aid to management:- Cost accounting provides invaluable aid to

management. It provides detailed costing information to the management to enable them to

maintain effective control over stores and inventory, to increase efficiency of the

organization and to check wastage and losses. It facilitates delegation of responsibility for

important tasks and rating of employees. For all these the management should be capable of

using the information provided by cost accounts in a proper way. The various advantages

derived by the management from a good system of costing are as follows:

i) Cost accounting helps in periods of trade depression and trade competition. In

periods of trade depression, the organization cannot afford to have wastages which pass

unchecked. The management must know areas where economies may be sought, waste

eliminated and efficiency increased. The organization must wage a war not only for its

survival but also continued growth. The management should know the actual cost of their

products before embarking on any scheme of price reduction. Adequate system of costing

facilitates this.

ii) Cost accounting aids price fixation. Although the law of supply and demand

determines the price of the product, cost to the producer does play an important role. The

producer can take necessary guidance from his costing records in case he is in a position
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to fix or change the price charged.

iii) Cost accounting helps in making estimates. Adequate costing records provide a

reliable basis for making estimates and quoting tenders.

iv) Cost accounting helps in channelizing production on right lines. Proper costing

information makes it possible for the management to distinguish between profitable and

non-profitable activities; profits can be maximized by concentrating on profitable

operations and eliminating non-profitable ones.

v) Cost accounting eliminates wastages. As cost accounting is concerned with detailed

breakup of costs, it is possible to check various forms of wastages or losses.

vi) Cost accounting makes comparisons possible. Proper maintenance of costing records

provides various costing data for comparisons which in turn helps the management in

formulating future lines of action.

vii)Cost accounting provides data for periodical Profit and Loss Account. Adequate

costing records provide the management with such data as may be necessary for

preparation of Profit and Loss Account and Balance Sheet at such intervals as may be

desired by the management.

viii) Cost accounting helps in determining and enhancing efficiency. Losses due to

wastage of materials, idle time of workers, poor supervision etc will be disclosed if the

various operations involved in the production are studied carefully. Efficiency can be

measured, cost controlled and various steps can be taken to increase the efficiency.

ix) Cost accounting helps in inventory control. Cost accounting furnishes control which

management requires, in respect of stock of materials, work in progress and finished

goods.

b) Costing as an aid to Creditors.

Investors, banks and other money lending institutions have a stake in the success of the

business concern are therefore benefitted immensely by the installation of an efficient

system of costing. They can base their judgment about the profitability and future

prospects of the enterprise on the costing records.

c) Costing as an aid to employees.

Employees have a vital interest in their employer’s enterprise in which they are
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employed. They are benefited by a number of ways by the installation of an efficient

system of costing. They are benefited, through continuous employment and higher

remuneration by way of incentives, bonus plans, etc.

d) Costing as an aid to National Economy

An efficient system of costing brings prosperity to the business enterprise which in turn

brings prosperity to the business enterprise which in turn results in stepping up of the

government revenue. The overall economic development o f a country takes place as a

consequence of increase in efficiency of production. Control of costs, elimination of

wastages and inefficiencies led to the progress of the industry and, in consequence of the

nation as a whole.

COST UNITS - The Chartered Institute of Management Accountants, London, defines a unit of

cost as “a unit of quantity of product, service or time in relation to which costs may be

ascertained or expressed”.

The forms of measurement used as cost units are usually the units of physical measurements like

number, weight, area, length, value, time etc.

Following are some examples of cost unit.

Industry/product Cost unit basis

Automobile Numbers

Brick works per 1000 bricks

Cement per Tonne

Chemicals Litre, gallon, kilogram, ton

Steel Tonne

Sugar Tonne

Transport Passenger-kilometre, tonne kilometer

COST CENTRE – According to Chartered Institute of Management Accountants, London, cost

centre means “a location, person or item of equipment (or group of these) for which costs may be

ascertained and used for the purpose of cost control”. Cost centre is the smallest organizational

sub-unit for which separate cost collection is attempted. Thus cost centre refers to one of the

convenient unit into which the whole factory organization has been appropriately divided for
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costing purposes. Each such unit consists of a department or a sub-department or item of

equipment or , machinery or a person or a group of persons.

For example, although an assembly department may be supervised by one foreman, it may

contain several assembly lines. Some times each assembly line is regarded as a separate cost

centre with its own assistant foreman.

The selection of suitable cost centres or cost units for which costs are to be ascertained in an

undertaking depends upon a number of factors which are listed as follows.

1.  Organization of the factory

2.  Conditions of incidence of cost

3. Requirements of the costing system ie. Suitability of the units or centres for cost

purposes.

4. Availability of information.

5.  Management policy regarding making a particular choice from several alternatives.

PROFIT CENTRE – A profit centre is that segment of activity of a business which is

responsible for both revenue and expenses and discloses the profit of a particular segment of

activity. Profit centres are created to delegate responsibility to individuals and measure their

performance.

COST CLASSIFICATION

Costs can be classified or grouped according to their common characteristics. Proper

classification of costs is very important for identifying the costs with the cost centers or cost

units. The same costs are classified according to different ways of costing depending upon the

purpose to be achieved and requirements of a particular concern. The important ways of

classification are:

1. By Nature or Elements. According to this classification the costs are classified into three

categories i.e., Materials, Labour and Expenses. Materials can further be sub-classified as

raw materials components, spare parts, consumable stores, packing materials etc. This helps

in finding the total cost of production and the percentage of materials (labour or other

expenses) constituted in the total cost. It also helps in valuation of work-in-progress.

2. By Functions: This classification is on the basis of costs incurred in various functions of an

organization ie. Production, administration, selling and distribution. According to this
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classification, costs are divided into Manufacturing and Production Costs and Commercial

costs.

Manufacturing and Production Costs are costs involved in manufacture, construction and

fabrication of products.

Commercial Costs are (a) administration costs (b) selling and distribution costs.

3. By Degree of Traceability to the Product : According to this, costs are divided indirect

costs and indirect costs. Direct Costs are those costs which are incurred for a particular

product and can be identified with a particular cost centre or cost unit. Eg:- Materials,

Labour. Indirect Costs are those costs which are incurred for the benefit of a number of cost

centre or cost units and cannot be conveniently identified with a particular cost centre or cost

unit. Eg:- Rent of Building, electricity charges, salary of staff etc.

4. By Changes in Activity or Volume: According to this costs are classified according to their

behavior in relation to changes in the level of activity or volume of production. They are

fixed, variable and semi-variable. Fixed Costs are those costs which remain fixed in total

amount with increase or decrease in the volume of the output or productive activity for a

given period of time. Fixed Costs per unit decreases as production increases and vice versa.

Eg:- rent, insurance of factory building, factory manager’s salary etc. Variable Costs are

those costs which vary in direct proportion to the volume of output. These costs fluctuate in

total but remain constant per unit as production activity changes. Eg:- direct material costs,

direct labour costs, power, repairs etc. Semi-variable Costs are those which are partly fixed

and partly variable. For example; Depreciation, for two shifts working the total depreciation

may be only 50% more than that for single shift working. They may change with

comparatively small changes in output but not in the same proportion.

5. Association with the Product: Cost can be classified as product costs and period costs.

Product costs are those which are traceable to the product and included in inventory cost,

thus product cost is full factory cost. Period costs are incurred on the basis of time such as

rent, salaries etc. thus it includes all selling and administration costs. These costs are

incurred for a period and are treated as expenses.

6. By Controllability: The CIMA defines controllable cost as “a cost which can be

influenced by the action of a specified member of an undertaking” and a non-controllable
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cost as “a cost which cannot be influenced by the action of a specified member of an

undertaking”.

7. By Normality: There are normal costs and abnormal costs. Normal costs are the costs

which are normally incurred at a given level of output under normal conditions.

Abnormal costs are costs incurred under abnormal conditions which are not normally

incurred in the normal course of production.Eg:- damaged goods due to machine break

down, extra expenses due to disruption of electricity, inefficiency of workers etc.

8. By Relationship with Accounting Period: There are capital and revenue expenses

depending on the length of the period for which it is incurred. The cost which is incurred

in purchasing an asset either to earn income or increasing the earning capacity of the

business is called capital cost, for example, the cost of a machine in a factory. Such cost

is incurred at one point of time but the benefits accruing from it are spread over a number

of accounting years. The cost which is incurred for maintaining an asset or running a

business is revenue expenditure. Eg:- cost of materials, salary and wages paid,

depreciation, repairs and maintenance, selling and distribution.

9. By Time..Costs can be classified as 1) Historical cost and 2) Predetermined Costs.

The costs which are ascertained and recorded after it has been incurred are called

historical costs. They are based on recorded facts hence they can be verified and are

always supported by evidences. Predetermined costs are also known as estimated costs as

they are computed in advance of production taking into consideration the previous

periods’ costs and the factors affecting such costs. Predetermined costs when calculated

scientifically become standard costs. Standard costs are used to prepare budgets and then

the actual cost incurred is later-on compared with such predetermined cost and the

variance is studied for future correction.

TYPES, METHODS AND TECHNIQUES OF COSTING

The general fundamental principles of ascertaining costs are the same in every system of

cost accounting, but the methods of analysis and presenting the costs vary from industry to

industry. Different methods are used because business enterprises vary in their nature and in the

type of products or services they produce or render. Basically, there are two principal methods of

costing, namely (i) Job Costing, and (ii) Process costing.
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1. Job costing: It refers to a system of costing in which costs are ascertained in terms of

specific jobs or orders which are not comparable with each other. Industries where this

method of costing is generally applied are Printing Process, Automobile Garages, Repair

Shops, Ship-building, House building, Engine and Machine construction, etc. Job Costing

includes the following methods of costing:

(a) Contract Costing: Although contract costing does not differ in principle from job costing, it

is convenient to treat contract cost accounts separately. The term is usually applied to the

costing method adopted where large scale contracts at different sites are carried out, as in the

case of building construction.

(b) Bach Costing: This method is also a type of job costing. A batch of similar products is

regarded as one job and the cost of this complete batch is ascertained. It is then used to

determine the unit cost of the articles produced. It should, however, be noted that the articles

produced should not lose their identity in manufacturing operations.

(c) Terminal Costing: This method is also a type of job costing. This method emphasizes the

essential nature of job costing, ie, the cost can be properly terminated at some point and

related to a particular job.

(d) Operation Costing: This method is adopted when it is desired to ascertain the cost of

carrying out an operation in a department, for example, welding. For large undertaking, it is

frequently necessary to ascertain the cost of various operations.

2. Process Costing: Where a product passes through distinct stages or processes, the output of

one process being the input of the subsequent process, it is frequently desired to ascertain the

cost of each stage or process of production. This is known as process costing. This method is

used where it is difficult to trace the item of prime cost to a particular order because its

identity is lost in volume of continuous production. Process costing is generally adopted in

textile industries, chemical industries, oil refineries, soap manufacturing, paper

manufacturing, tanneries, etc.

3. Unit or single or output or single output costing: This method is used where a single

article is produced or service is rendered by continuous manufacturing activity. The cost of

the whole production cycle is ascertained as a process or series of processes and the cost per

unit is arrived at by dividing the total cost by the number of units produced. The unit of
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costing is chosen according to the nature of the product. Cost statements or cost sheets are

prepared under which various items of expenses are classified and the total expenditure is

divided by total quantity produced in order to arrive at unit cost of production. This method

is suitable in industries like brick-making, collieries, flour mills, cement manufacturing, etc.

this method is useful for the assembly department in a factory producing a mechanical article

eg. Bicycle.

4. Operating Costing: This method is applicable where services are rendered rather than goods

produced. The procedure is same as in the case of single output costing. The total expenses

of the operation are divided by the units and cost per unit of services is arrived at. This

method is employed in Railways, Road Transport, Water supply undertakings, Telephone

services, Electricity companies, Hospital services, Municipal services, etc.

5. Multiple or Complete Costing: Some products are so complex that no single system of

costing is applicable. It is used where there are a variety of components separately produced

and subsequently assembled in a complex production. Total cost is ascertained by computing

component costs which are collected by job or process costing and then aggregating the costs

through use of the single or output costing system. This method is applicable to

manufacturing concerns producing Motor Cars, Aeroplanes, Machine tools, Type-writers,

Radios, Cycles, Sewing Machines, etc.

6. Uniform Costing: It is not a distinct method of costing by itself. It is the name given to a

common system of costing followed by a number of firms in the same industry. This helps in

comparing performance of one firm with that of another.

7. Departmental Costing: When costs are ascertained department by department, the method

is called “Departmental Costing”. Usually, for ascertaining the cost of various goods or

services produced by the department, the total costs will have to be analysed, say, by the use

of job costing or unit costing.

In addition to the above methods of costing, mention can be made of the following

techniques of costing which can be applied to any one of the above method of costing for

special purposes of cost control and policy making:

a) Standard or Predetermined Costs.

b) Marginal Costs
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ELEMENTS OF COST

The management of an organization needs necessary data to analyze and classify costs

for proper control and for taking decisions for future course of action. Hence the total cost is

analyzed by elements of costs ie by the nature of expenses. The elements of costs are three and

they are materials, labour and other expenses. These can be further analyzed as follows.

These terms can be explained as follows

1. Direct Materials are those materials which can be identified in the product and can be

conveniently measured and directly charged to the product. For example, bricks in houses,

wood in furniture etc. Hence all raw materials, materials purchased specifically for a job or

process like glue for book making, parts or components purchased or produced like batteries

for radios and tyres for cycles, and primary packing materials are direct materials.
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2. Indirect Materials are those materials which cannot be classified as direct materials.

Examples are consumables like cotton waste, lubricants, brooms, rags, cleaning materials,

materials for repairs and maintenance of fixed assets, high speed diesel used in power

generators etc.

3. Direct Labour is all labour expended in altering the construction, composition,

confirmation or condition of the product. Thus direct wages means the wages of labour

which can be conveniently identified or attributed wholly to a particular job, product or

process or expended in converting raw materials into finished goods. Thus payment made to

groups of labourers engaged in actual production, or carrying out of an operation or process,

or supervision, maintenance, tools setting, transportation of materials, inspection, analysis

etc is direct labour.

4. Direct Expenses are expenses directly identified to a particular cost centre. Hence expenses

incurred for a particular product, job, department etc are direct expenses. Example royalty,

excise duty, hire charges of a specific plant and equipment, cost of any experimental work

carried out especially for a particular job, travelling expenses incurred in connection with a

particular contract or job etc.

5. Overheads may be defined as the aggregate of the cost of indirect materials, indirect labour

and such other expenses including services as cannot conveniently be charged direct ot

specific cost units. Overheads may be sub-divided into (i) Manufacturing Overheads; (ii)

Administration Overheads; (iii) Selling Overheads; (iv) Distribution Overheads; (v)

Research and Development

By grouping the above elements of cost, the following divisions of cost are obtained.

1. Prime cost =  Direct Materials + Direct Labour+ Direct Expenses

2. Works or Factory Cost =  Prime Cost + Works or Factory Overheads

3. Cost of  Production =  Works Cost + Administration Overheads

4. Total Cost or Cost of Sales =  Cost of Production + Selling and Distribution Overheads

5.  Profit or Loss = the difference between the cost of sales and selling price represents Profit or

loss.

COST SHEET OR STATEMENT OF COST

When costing information is set out in the form of a statement, it is called “Cost Sheet”.
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It is usually adopted when there is only one main product and all costs almost are incurred for

that product only. The information incorporated in a cost sheet would depend upon the

requirement of management for the purpose of control.

Specimen of Cost Sheet or Statement of Cost

Total Cost Cost per Unit

Rs. Rs.

Direct Materials xxx xxx

Direct Labour xxx xxx

Prime cost xxx xxx

Add: Works Overheads xxx xxx

Works Cost xxx xxx

Add: Administrative Overheads xxx xxx

Cost of Production xxx xxx

Add: Selling and Distribution Overheads xxx xxx

Total Cost or Cost of Sales xxx xxx

Meaning of Cost Sheet:

Cost sheet is a document which provides for the assembly of the estimated detailed cost in

respect of a cost centre or a cost unit. It is a detailed statement of the elements of cost arranged in

a logical order under different heads. It is prepared to show the detailed cost of the total output

for a certain period.
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It is only a memorandum statement and does not form part of the double entry system.

Additional columns can be provided to indicate cost per unit at different stages of production or

to enable comparison to be made of the current costs with that of historical costs.

Advantages of Cost Sheet:

The main advantages of a cost sheet are:

(i) It indicates the break-up of the total cost by elements, i.e. material, labour, overheads, etc.

(ii) It discloses the total cost and cost per unit of the units produced.

(iii) It facilitates comparison.

(iv) It helps the management in fixing selling prices.

(v) It acts as a guide to the management and helps in formulating production policy.

(vi) It enables to keep control over cost of production.

(vii) It helps the management in submitting quotations or preparing estimates for tenders.

(viii) It is a simple and useful medium of communication of costs to various levels of

management.

Items Required for Preparation of the Cost Sheet:

i. Stock of Raw Materials:

While preparing a cost sheet, it is necessary to determine the cost of raw material consumed.
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If the opening stock of raw materials, purchase of raw materials during the period and

closing stock of raw material at the end of the period are given, then the cost of raw

materials consumed is calculated as follows:

ii. Stock of Work-in-Progress:

Work-in-progress refers to the semi-finished goods on which some work has been done but

which are not yet complete at the end of the period. As such these goods are not yet available for

state. The stock of work-in-progress may be valued at prime cost or factory/work cost basis, but

generally, it is valued on the basis of work cost.

The adjustment for the stock of work-in-progress valued at works cost should be made as

follows:

iii. Stock of Finished Goods:

Stock of finished goods refers to the stock of products on which all factory work has been

completed. Thus, it is valued at the cost of completed production.

If opening and closing stocks of finished goods are given, then the following adjustment

should be made while calculating cost of goods sold:
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iv. Carriage Inward or Carriage on Raw Materials Purchased:

Carriage inward which is incurred on bringing the raw material purchased should be

added while calculating the cost of raw materials consumed as below:

v. Scrap of Materials:

Scrap is discarded material having some value which is usually either disposed off without

further treatment or is introduced into the production process in the place of raw materials. If the

value of scrap is negligible, then it is credited to profit and loss account as an income.

The cost of production bears the cost of scrap because total cost is not reduced by the amount of

scrap. However, in case the value of scrap is significant, then it is deducted from the cost of

material consumed or factory overhead/cost depending upon the stage of scrap.

If the scrap materials occur in raw condition stage, then the net amount realised from the sale of

scrap should be deducted from the cost of materials used. But, if the scrap is obtained in the

course of manufacturing process, then the net amount realised from the sale of scrap should be

deducted from the factory overhead or factory cost.

vi. Items Excluded from Costs:

The items of expenses, losses or incomes which are related to capital assets, appropriation of

profits, amortization of fictitious or intangible assets, abnormal gains and losses or items of

purely financial nature do not form part of the costs and these are excluded from cost accounts.

The examples of such items include loss on sale of building or machinery, interest on capital,

discount on issue or redemption of shares or debentures, expenses relating to previous period,

cash discounts, bad debts, damages payable, penalties and fines, interest or dividend received on

investments, transfer fees received, profit on sale of fixed assets, appropriation of profits such as

income-tax, dividend paid, transfer of profits to reserves or funds, donations and charities, excess

provision for depreciation on fixed assets, amortization of fictitious or intangible assets such as
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goodwill written off, preliminary expenses written off, patents, trademarks and copyrights

written off, capital issue expenses, underwriting commission, loss on issue of shares and

debentures written off, etc. Thus, it should be noted that such items-are not taken into

consideration (excluded) while preparing a cost sheet.

Solution:

Illustration 2:

The following extract of costing information related to commodity X for the half year

ended 30th June, 2011:
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Advertising, discount allowed and selling cost 75 paise per ton sold. 25,600 tonnes of

commodity was produced during the period.

You are required to ascertain:

(a) The value of raw materials used

(b) Cost of output for the period

(c) Cost of turnover for the period

(d) Net profit for the period

(e) Net profit per tonne of the commodity sold.

Solution:
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Illustration 3:

The directors of a manufacturing business require a statement showing the production results of

the business for the month of March, 2011.

The cost accounts reveal the following information:
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You are required to construct the statement so as to show:

(a) The value of materials consumed;

(b) The total cost of production;

(c) The cost of goods sold;

(d) The gross profit on goods sold and

(e) The net profit for the month.

Solution:
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POSSIBLE QUESTIONS

Part – B

11. Define costing and discuss briefly its objectives and advantages.

12. From the following information, prepare a cost sheet for the month of March, 2016:

Particulars Rs.

Stock on hand-1 sty March, 2016: Raw materials 25,000

Finished goods 17,300

Stock on hand-31 sty March, 2016: Raw materials 26,200

Finished goods 15,700

Purchase of raw materials 21,900

Carriage on purchases 1,100

Working –in-progress: 1.3.2016 at works cost 8,200

Working –in-progress: 31.3.2016 at works cost 9,100

Sale of finished goods 72,300

Direct wages 17,200

Non-productive wages 800

Direct expenses 1200

Factory overhead 8,300

Administrative overhead 3,200

Selling and Distribution overhead 4,200

13. Define and explain with suitable example of the terms;

i) Cost Units ii) Cost centers

14. Draw a statement of cost from the following particulars:

Rs.

Opening stock: 1. Materials 2,00,000

2. Work-in Progress 60,000

3. Finished goods 5,000

Closing stock: 1. Materials 1,80,000

2. Work-in Progress 50,000

3. Finished goods 15,000
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Materials purchased 5,00,000

Direct wages 1,50,000

Manufacturing expenses 1,00,000

Sales 8,00,000

Selling and distribution expenses 20,000
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UNIT-II

SYLLABUS

Material Control – Procurement Procedure – Issue of Inventories under Various Methods –

computation of stock levels – EOQ – Perpetual Inventory System – Labour Costing - Time Rate,

Piece Rate System, Methods of Payment by Result – Determination of Labour Turn over Under

Various Methods

MATERIAL CONTROL

The materials are a major part of the total cost of producing a product and are one of the

most important assets in majority of the business enterprises. Hence the total cost of a product

can be controlled and reduced by efficiently using materials.

The materials are of two types, namely:

(i) Direct materials: The materials which can be easily identified and attributable to the

individual units being manufactured are known as direct materials. These materials also

form part of finished products. All costs which are incurred to obtain direct materials are

known as direct material costs.

(ii) Indirect materials: Indirect materials, on the other hand, are those materials which are of

small value such as nuts, pins, screws, etc. and do not physically form part of the finished

product. Costs associated with indirect materials are known as indirect material costs.

Factory supplies, office supplies and selling supplies are generally termed as stores.

PURCHASING CONTROL AND PROCEDURE

Purchasing is an art. Wrong purchases increase the cost of materials, store equipments

and the finished goods. Hence it is imperative that purchases should be effectively, efficiently

and economically performed.

Methods of Purchasing

Purchasing can be broadly classified as centralized and localized purchasing.

(a) Centralized Purchasing: In a large organization, manufacturing units are many. In such

cases centralized purchasing is beneficial. The advantages of centralized purchasing are:

1. Specialized and expert knowledge is available.

2. Advantages arise due to bulk purchases.
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3. The cost of purchasing can be reduced and selling price can be lowered.

4. As there is good knowledge of market conditions, greater control can be exercised.

5. When materials have to be imported, it is advantageous to centralize the buying.

6. Economy and ease in compilation and consultation of results.

7. It can take advantage of market changes.

8. Investment in inventories can be reduced.

9. Other advantages include undivided responsibility, consistent buying policies.

10. Factors to be considered when decision regarding centralization has to be taken are

geographical separation of plants, homogeneity of products, type of material bought,

location of supplies etc.

(b) Decentralization of Purchases: The advantages of localized purchasing or

decentralization of purchases are:-

1. Each plant may have its own particular need. This can be given special attention.

2. Direct contact can be established with suppliers.

3. The time lag between indenting and receiving materials can be reduced.

4. Technical requirements of each plant can be ascertained.

PURCHASE PROCEDURE / PROCUREMENT PROCEDURE: The steps usually

followed for purchase of materials may be enumerated as follows:-

1. Indenting for materials : The stores department prepares indents for the purchase of

materials for replenishment of stocks (regular indents) or for a special job(special

indents) and sends it to the purchase department. Regular indents are prepared

periodically and placed when the ordering level for different items of stocks are reached.

The quantity indented is equal to the ordering quantity fixed for each item. The special

indents are based on the demands received either from the planning or production

department.

2. Issue of tenders to suppliers: The purchase department issue tenders to suppliers or

publish them in papers. The suppliers quote their terms of price and delivery/payment.

After the last date for receipt of quotations is over, the tenders are opened and a

comparative statement is prepared. Tenders are prepared in triplicate. Of them, two are

sent to the suppliers and one is retained with the purchase department. The supplier
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mentions his terms in the original.

While considering the tenders, the reliability of the supplier has to be taken into account.

The quality of goods and time taken to deliver the goods on previous occasions should be

checked. The financial stability and capacity to deliver goods should be ensured.

Sometimes purchases may be made without inviting quotations. The circumstances are

when prices are controlled, or purchases are made under long term contracts, or catalogue

prices are available or when there is a cost plus contract. If purchase is made under cost

plus profit basis, the cost composition and reasonableness of price should be checked.

3. Placing of purchase orders: Normally six copies of purchase order are made. The

supplier, stores, inspection department, store accounting section, purchase department

and progress department are sent one copy each.

The purchase order has legal and accounting significance. From legal point of view, it

binds both the parties to the terms of the contract. Form the accounting point of view; it

signifies the amount which has to be spent. It signifies the stores department to accept the

goods and the accounts department to accept the bill.

4. Inspection: The supplier delivers goods at the place specified. Two delivery challans are

prepared by the supplier one of which is returned. It is a proof of delivery. After

receiving the goods, the inspection department or production department or maintenance

department (as the case may be) is intimated.

The inspector checks that the materials are in accordance with the quality required,

standard expected, tolerances allowed etc. After inspection an inspection note is prepared

in triplicate, one copy is sent to the supplier, one to the stores, and one to the inspection

department.

5. Receiving Stores: The stores department prepares a Stores Receipt Note for the quantity

of stock accepted in inspection. After issuing of the stores receipt, the storekeeper is

responsible for the stocks. The stores receipt is the document for the posting of receipts

in Bin Card and the Stores Ledger. It is prepared in quadruplicate and sent to the

supplier; stores accounting section and purchase department and one copy are retained

with the stores. The supplier encloses this copy along with his bill. The stores accounting

section compares the note with the purchase order.
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6. Checking and passing of bills for payment: Bills received by the purchase department

are forwarded to the stores accounting section to check the authenticity regarding

quantity and price and the arithmetical accuracy. Special items included in the bills eg:-

freight, packing charges are verified with the purchase order. The bill is later passed for

payment.

STOREKEEPING

Store keeping is a service function. The storekeeper is a custodian of all the items kept in

the store. The stores should be maintained properly and cost minimized. The main objectives of

store keeping are:-

i) To protect stores against losses

ii) To keep goods ready for delivery/issue

iii) To provide maximum service at minimum cost.

The duties and functions of Store-keeper can be summarized as follows:

i) Materials should be received, unloaded, inspected and then moved to stores. The

materials have to be stored in appropriate places and records the receipts in proper books.

ii) The stores records should be maintained in an efficient and orderly manner so that

materials can be easily located and information can be obtained for various departments.

iii) The stores should provide maximum protection and safety and accessibility and utilize

minimum space. Suitable storage devices should be installed.

iv) The materials should be given special covering to prevent damage due to atmospheric

conditions.

v) All issues should be properly recorded, efficiently, promptly and accurately. All issues

should be duly authorized and procedures laid down should be duly followed.

vi) The storekeeper is responsible for co-ordination with materials control according to the

type of production, size of the company, the organization structure etc.

vii) Ensure that all transactions are posted in the Bin Card see that the Bin Card is up-to-date.

viii) All items should be in its proper place.

ix) Maintenance of stores at required levels.

x) Neatness in stores to facilitate physical verification.

xi) Co-ordination and supervision of staff in the stores department.
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xii) Periodical review of various scales, measuring instruments, conversion ratios etc.

xiii) Protect stores from fires, rust, erosion, dust, theft, weather, heat, cold, moisture

and deterioration etc.

COMPUTATION OF STOCK LEVELS

One of the duties of the storekeeper is to send requisitions for materials for replenishment

in time so that the production is not held up due to shortage of materials. The storekeeper should

also see that there is no unnecessary blocking of capital due to overstocking of materials. For this

he keeps a check on the re-order level, economic ordering quantity, and the maximum and

minimum quantity which he is authorized to store in respect of each kind of material.

(a) Re-ordering Level

Re-ordering level is that point of level of stock of a material where the storekeeper starts

the process of initiating purchase requisition for fresh supplies of that materials. This level is

fixed somewhere between the maximum and minimum levels in such a way that the

difference of quantity of the material between the re-ordering level and minimum level will

be sufficient to meet the requirements of production until the fresh supply of the materials is

received.

(b) Economic Ordering Quantity

The quantity of material to be ordered at one time is known as economic ordering

quantity. This quantity is fixed in such a manner as to minimize the cost of ordering and

carrying the stock. The total costs of a material usually consist of:

Total acquisition cost + total ordering cost + total carrying cost.

Since the acquisition cost per unit of material is same whatever is the quantity purchased, it is

usually excluded when deciding the quantity of a material to be ordered at one time. The only

costs to be taken care of are the ordering costs and carrying costs which vary with the

quantity ordered.

(c) Minimum Level or Safety Stock level

The minimum level is the minimum quantity of the material which must be maintained in

hand at all times. The quantity is fixed so that the production is not held up due to shortage

of the materials.

(d) Maximum Level
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It is the maximum of stock which should be held in stock at any time during the year.

The quantity is fixed so as to avoid overstocking as it leads to the following disadvantages.

1. Overstocking leads to increase in working capital requirement which could be profitable

used somewhere else.

2. Overstocking will need more godown space, so more rent will have to be paid.

3. It may also lead to obsolescence on account of overstocking.

4. There are chances that the quality of materials will deteriorate because large stock will

require more time before they are consumed.

5. There may be fear of depreciation in market values of the overstocked materials.

(e) Danger Level

This level means that level of stock at which normal issues of the material are stopped

and issues are made only under specific instructions. The purchase officer will make special

arrangements to get the materials which reach at their danger levels so that the production

may not stop due to shortage of materials.

STORES (OR MATERIALS) RECORDS

In the stores the most important two records kept are bin cards and stores ledger.

(a) Bin Card. A bin card is a record of the receipt and issue of material and is prepared by

the store keeper for each item of stores. A bin card is also known as bin tag or stock card

and is usually kept in the rack where the material is kept. In a bin card not only the receipt

and issue of material is recorded, minimum quantity, maximum quantity and ordering

quantity are stated on the card. This helps the store keeper to send the material requisition

for the purchase of material in time.

(b) Stores Ledger: This ledger is kept in the costing department and is identical with the bin

card except that receipts, issues and balances are shown along with their money values.

This provides the information for the pricing of materials issued and the money value at

any time of each item of stores.

PERPETUAL INVENTORY SYSTEM

The Chartered Institute of Management Accountants, London, defines the perpetual

inventory as “a system of records maintained by the controlling department, which reflects the
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physical movements of stocks and their current balance”. Thus this is a system in which, with the

help of Bin Cards and Stores Ledger, the balance of stock is ascertained after every receipt and

issue of materials. This is helps in avoiding closing down of firm for physical verification.

Advantages of the Perpetual Inventory System

The following are the advantages of the perpetual inventory system:

1. It avoids the disruption of production for physical checking of all items of stores at the

end of the year.

2. The preparation of Profit and Loss Account and Balance Sheet is possible without

physical verification of stock.

3. A detailed and more reliable control on the materials in store is obtained.

4. As the work of recording and continuous stocktaking is carried out systematically and

without undue haste, the figures are more reliable.

5. Continuous stocktaking will make the storekeeper and the stores accountant more vigilant

in their work and they will try to keep the records accurate and up-to-date.

6. Planning of production can be done without any fear of shortage as the management is

constantly informed of the stores position.

7. An inbuilt system of internal check will be in operation as bin cards and the stores ledger

keep a check on each other.

8. Errors and shortage of stock are readily discovered and efforts are made to avoid the

shortage of stock in future.

9. The capital invested in the stores can be kept under control and efficiently used as stock

can be compared with the minimum and maximum levels.

10. It makes available correct stock figures for claim to be lodged with the insurance

company for loss on account of stock destroyed by fire.

ABC ANALYSIS

Under ABC Analysis, the materials in stock are divided into three categories for the

purpose of control. Generally it is seen that the materials which constitute the least percentage of

items in stock may contribute to a large percentage of value and a large percentage of items may

represent a smaller percentage of value of items consumed. Between these two items are those

items, the percentage of which is more or less equal to their value in consumption. Items falling
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in the first category are treated as ‘A’ items, of the second category as ‘B’ items and items of the

third category are taken as ‘C’ items. Such an analysis of material is known as ABC analysis.

This technique of stock control is also known as stock control according to value method or

Always Better Control method or Proportional Parts Value Analysis method. Thus, under this

technique of material control, materials are listed in ‘A’, ‘B’ and ‘C’ categories in descending

order based on money value of consumption.

ABC analysis measures the cost significance of each item of material. It concentrates on

important items, so it is also known as ‘Control by Importance and Exception” (CIE).

The report of the Indian Productivity Team on “Stores and Inventory Control in U.S.A.,

Japan and West Germany” gives the following example of ABC Analysis:

Group Percentage of Items Percentage of Costs

A 8% 75%

B 25% 20%

C 67% 5%

The significance of this analysis is that a very close control is exercised over the items of ‘A’

group which account for a high percentage of costs while less stringent control is adequate for

category ‘B’ and very little control would suffice for category ’C’ items.

ISSUE OF MATERIALS

Materials issued from stores are debited to the jobs or work orders which received them and

credited to the materials account. These jobs are debited with the value of materials issued to

them.

But what is the value of materials? Theoretically the value includes the invoice price less

trade discount, the freight, cartage, octroi and insurance on incoming materials, expenses of

purchase, receiving, storing and record keeping and carriage from the stores up to the process

plant. However, in practice, it involves minute calculations for including all these expenses and

is a big task compared to the benefit derived from it.

Moreover the price changes according to the market conditions and at any given time there

will be stock of materials purchased at different times at different prices. Hence the problem as

to at what price the materials should be issued?
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The important methods followed in pricing of issue of materials are:-

1. Actual Cost Method

2. First-In First-Out (FIFO) Method

3. Last-In First-Out (LIFO) Method

4. Highest-in First-Out (HIFO) Method

5. Simple Average Cost Method

6. Weighted Average Cost Method

7. Periodic Average Cost Method

8. Standard Cost Method

9. Replacement Cost Method

10. Next in First Out (NIFO) Method

11. Base Stock Method.

1. Actual Cost Method:

Where materials are purchased specially for a specific job, actual cost of materials is charged to

that job. Such materials will normally be stored separately and issued only to that particular job.

2. First-In First-Out (FIFO) Method:

CIMA defines FIFO as “a method of pricing the issue of material using, the purchase price

of the oldest unit in the stock”. Under this method materials are issued out of stock in the order

in which they were first received into stock. It is assumed that the first material to come into

stores will be the first material to be used.

Advantages:

(a) It is easy to understand and simple to price the issues.

(b) It is a good store keeping practice which ensures that raw material leave the stores in a

chronological order based on their age.

(c) It is a straight forward method which involves less clerical cost than other methods of pricing.

(d) This method of inventory valuation is acceptable under standard accounting practice.

(e) It is a consistent and realistic practice in valuation of inventory and finished stock.

(f) The inventory is valued at the most recent market prices and it is near to the valuation based

on replacement cost.
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Disadvantages:

(a) There is no certainty that materials which have been in stock longest will be used, if they are

mixed up with other materials purchased at a later date at different price.

(b) If the price of the materials purchased fluctuates considerably, it involves more clerical work

and there is possibility of errors.

(c) In a situation of rising prices, production cost is understated.

(d) In inflationary market, there is a tendency to under-price material issues. In deflationary

market, there is a tendency to overprice such issues.

(e) Usually more than one price has to be adopted for a single issue of materials.

(f) The method makes cost comparison difficult of different jobs when they are charged with

varying prices for the same materials.

This method is more suitable where the size of the raw materials is large and bulky and its price

is high and can be easily identified in the stores separately. This method is useful when the

frequency of material receipts is less and the market price of the material are stable and steady.

3. Last-In First-Out (LIFO) Method:

Under this method most recent purchase will be the first to be issued. The issues are priced out at

the most recent batch received and continue to be charged until a new batch received is arrived

into stock. It is a method of pricing the issue of material using the purchase price of the latest

unit in the stock.

Advantages:

(a) Stocks issued at more recent price represent the current market value based on the

replacement cost.

(b) It is simple to understand and easy to apply.

(c) Product cost will tend to be more realistic since material cost is charged at more recent price.

(d) In times of rising prices, the pricing of issues will be at a more recent current market price.
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(e) It minimizes unrealized inventory gains and tends to show the conservative profit figure by

valuation of inventory at value before price rise and provides a hedge against inflation.

Disadvantages:

(a) Valuation of inventory under this method is not acceptable in preparation of financial

accounts.

(b) It is an assumption of a cash flow pattern and is not intended to represent the true physical

flow of materials from the stores.

(c) More than one price may have to be adopted for an issue.

(d) It renders cost comparison between jobs difficult.

(e) It involves more clerical work and sometimes valuation may go wrong.

(f) In times of inflation, valuation of inventory under this method will not represent the current

market prices.

4. Highest-in First-Out (HIFO) Method:

Under this method, the materials with highest prices are issued first, irrespective of the date upon

which they were purchased. The basic assumption is that in fluctuating and inflationary market,

the cost of material are quickly absorbed into product cost to hedge against risk of inflation. This

method is used when the material is in short supply and in execution of cost plus contracts. This

method is not popular and not acceptable under standard accounting practices.

5. Simple Average Cost Method:

Under this method all the materials received are merged into existing stock of materials, their

identity being lost. The simple average price is calculated without any regard to the quantities

involved. The simple average cost is arrived at by adding the different prices paid during the

period for the batches purchased by dividing the number of batches. For example, three batches

of materials received at Rs. 10, Rs. 12 and Rs. 14 per unit respectively.
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The simple average price is calculated as follows:

Rs. 10 + Rs. 12 + Rs. 14/3 batches = Rs. 36/3 batches = Rs 12 per unit

This method is not popular because it takes into consideration the prices of different batches but

not the quantities purchased in different batches. This method is used when prices do not

fluctuate very much and the stock values are small in value.

6. Weighted Average Cost Method:

It is a perpetual weighted average system where the issue price is recalculated every time after

each receipt taking into consideration both the total quantities and total cost while calculating

weighted average price. For example, three batches of material received in quantities of 1,000

units @ Rs. 15, 1,300 units @ Rs. 16 and 800 units @ Rs. 14.

The weighted average price is calculated as follows:

(1,000 units x Rs. 15) + (1,300 units x Rs. 16) + (800 units x Rs. 14)/1,000 units + 1,300 units +

800 units

= Rs. 15,000 + Rs. 20,800 + Rs. 11,200/3,100 units = Rs. 47,000/3,100 units = Rs. 15.16 per unit

This method tends to smooth out the fluctuations in price and reduces the number of calculations

to be made, as each issue is charged at the same price until a fresh batch of material is received.

This method is easier as compared to FIFO and LIFO, as there is no necessity to identify each

batch separately. But this method increases the clerical work in calculation of new average price

every time a new batch is received. The issue price calculated rarely represents the actual

purchase price.

7. Periodic Average Cost Method:

Under this method, instead or recalculating the simple or weighted average cost every time there

is a receipt, an average for the accounting period as a whole is computed.

The average price for all the materials issued during the period is computed as follows:
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8. Standard Cost Method:

Under this method, material issues are priced at a predetermined standard issue price. Any

variance between the actual purchase price and standard issue price is written off to the Profit

and Loss Account. Standard cost is a predetermined cost set by the management prior to the

actual material costs being known and the standard issue price is used for all issues to production

and for valuation of closing stock.

If initially the standard price is set carefully then it reduces all the clerical work and errors

tremendously and the stock recording procedure is simplified. The realistic production cost

comparisons can be made easier by eliminating fluctuations in cost due to material price

variance. In a situation of fluctuating prices, this method is not suitable.

9. Replacement Cost Method:

This method is also called as ‘market price method’. The replacement cost is a cost at which

material identical to that can be replaced by purchasing at the date of pricing material issues; as

distinct from the actual cost price at the date of purchase. The replacement price is the price of

replacing the material at the time of issue of materials or on the date of valuation of closing

stock.

This method is not acceptable for standard accounting practice, since it reflects a cost which has

not really been paid. If stocks are held at replacement cost, for balance sheet purposes when they

have been bought at a lower price, an element of profit which has not yet been realized will be

built into the Profit and Loss Account.

This method is advocated by charging the market price of material to the job or process, make it

easier to determine the profitability of the job or process. This method is suitable particularly in

the inflationary tendency of market prices of materials. Where there is no precise market for
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particular materials, it would be difficult in ascertainments of replacement prices for the material

issues.

10. Next in First Out (NIFO) Method:

This method is a variant of replacement cost method. Under this method the price quoted on the

latest purchase order or contract is used for all issues until a new order is placed.

11. Base Stock Method:

Under this method, a specified quantity of material is always held in stock and is priced at its

original cost as buffer or base stock; and any issue of materials above the base stock quantity is

priced under any one of the methods discussed above.

This method indicates how prices are moving over a longer period of time. But this method is not

popular and also not accepted under standard accounting practice since it would result in stock

valuation totally unrealistic.

LABOUR COSTING

Labour cost is a second major element of cost. The control of labour cost and its accounting is

very difficult as it deals with human element. Labour is the most perishable commodity and as

such should be effectively utilized immediately.

Importance of Labour Cost Control

Labour is of two types (a) direct labour, (b) indirect labour. Direct Labour is that labour which

is directly engaged in the production of goods or services and which can be conveniently

allocated to the job, process or commodity or process. For example labour engaged in spinning

department can be conveniently allocated to the spinning process.

Indirect Labour is that labour which is not directly engaged in the production of goods and

services but which indirectly helps the direct labour engaged in production. The examples of

indirect labour are supervisors, sweepers, cleaners, time-keepers, watchmen etc. The cost of

indirect labour cannot be conveniently allocated to a particular job, order, process or article.

The distinction between direct and indirect labour must be observed carefully because payment

of direct labour is a direct expenditure and is a part of prime cost whereas payment of indirect
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labour is an item of indirect expenditure and is shown as works, office, selling and distribution

expenditure according to the nature of the time spent by the indirect worker.

Time Wage System

Under this method of wage payment, the worker is paid at an hourly, daily, weekly or monthly

rate. This payment is made according to the time worked irrespective of the work done.

This method is highly suitable for following types of work:

1. Where highly skilled and apprentices are working.

2. Where quality of goods produced is of extreme importance eg., artistic goods

3. Where the speed of work is beyond the control of the workers.

4. Where close supervision of work is possible.

5. Where output cannot be measured.

The disadvantages of this method are:

1. Workers are not motivated.

2. Workers will get payment for idle time.

3. Efficient workers will become inefficient in the long run as all of them get same wages.

4. Employer finds it difficult to calculate labour cost per unit as it varies as production

increases and decreases.

5. Strict supervision is necessary to get the work done.

6. Inefficiency results in upsetting the production schedule and increases the cost per unit.

7. It will encourage a tendency among workers to go slow so as to earn overtime wages.

Thus this method does not establish a proportionate relationship between effort and reward and

the result is that it is not helpful in increasing production and lowering labour cost per unit.

Piece Rate System (payment by result)

The piece rate system is that system of wage payment in which the workers are paid on

the basis of the units of output produced. Piece rate system does not consider the time spent by

the workers. Piece rate system is the method of remunerating the workers according to the

number of unit produced or job completed. It is also known as payment by result or output. Piece
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rate system pays wages at a fixed piece rate for each unit of output produced. The total wages

earned by a worker is calculated by using the following formula.

Total Wages Earned= Total units of outputs produced x Wage rate per unit of output.

OR,

Total Wages Earned= Output x Piece Rate

Advantages of Piece Rate System

I. The following are some important advantages of piece rate system of wage payment.

Piece rate system pays wages according to the output produced by the workers. It

encourages efficient workers.

II. Piece rate system helps to reduce idle time.

III. Piece rate system gives incentives to the workers to adopt a better method of production

for increasing their production and earning.

IV. Piece rate system helps the management to determine the exact labour cost per unit for

submitting quotation.

V. Piece rate system reduces per unit cost of production due to increased volume of

production.

Piece rate system requires less supervision cost.

Disadvantages of Piece Rate System

I. The following are the notable disadvantages of piece rate system

Piece rate system does not help in producing quality output as the workers are

concentrated more on quantity instead of quality.

II. Piece rate system does not help for a uniform flow of production and makes difficult to

regulate the production schedule.

III. It is very difficult to fix an acceptable and reasonable piece rate for each item of output or

job.

Piece rate system adversely affects the workers' health as well.

IV. It requires extra supervision cost for quality output and effective use of materials, tools

and equipment.

There are four variants of this system.

a) Straight piece rate system
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b) Taylor’s differential piece rate system

c) Merrick’s multiple piece rate system

d) Gant’s task and bonus plan

(a) Straight piece rate system

Payment is made as per the number of units produced at a fixed rate per unit. Another

method is piece rate with guaranteed time rate in which the worker is given time rate wages if

his piece rate wages is less than the time rate.

(b) Taylor’s Differential Piece Rate system
Differential Piece Rate System was introduced by Taylor, the father of scientific

management. The underlying principle of this system is to penalise a slow worker by paying him

a low piece rate for low production and to reward an efficient worker by giving him a higher

piece rate for a higher production. Taylor was of the view that an inefficient worker should have

no place in the organisation and he should be compelled to leave the organisation by paying him

a low piece rate for low production.

Taylor proceeded on the assumption that through time and motion study it is possible to fix a

standard time for doing a particular task. To encourage the workers to complete the work within

the standard time, Taylor advocated two piece rates, so that if a worker performs the work within

or less than the standard time, he is pad a higher piece rate, and if he does not complete the work

within the standard time, he is given a lower piece rate.

Thus, if the standard production has been fixed at 8 units per day of 8 hours (taking normal piece

rate as Re 1), the higher piece rate for 8 units or beyond may be Rs 1.20 per unit and the lower

rate for an output of less than 8 units per day, may be 80 P. per unit.

Hence, Taylor decided to give a large reward to those who would complete the work within or

less than the standard time and much less wages to those who would not complete the job within

the standard time. The system is very harsh to the inefficient workers because they earn much

less wages on account of lower output and lower rate.
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Moreover, minimum wages are not guaranteed under this method. Another drawback of the

system is that if a worker just fails to complete the work within the standard time earns much less

wages than a worker who just completes the job within the standard time. Therefore, the system

is now almost out of use.

Illustration :

Calculate the earnings of workers A and B under Straight Piece-rate System and Taylor’s
Differential Piece-rate System from the following particulars:

Normal rate per hour = Rs 1.80

Standard time per unit = 20 seconds

Differentials to be applied:

80% of piece rate below standard

120% of piece rate at or above standard.

Worker A produces 1,300 units per day and worker B produces 1,500 units per day.

c) Merrick’s Multiple Piece Rate System
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This method seeks to make an improvement in the Taylor’s differential piece rate system. Under

this method, three piece rates are applied for workers with different levels of performance.

Wages are paid at ordinary piece rate to those workers whose performance is less than 83% of

the standard output, 110% of the ordinary piece rate is given to workers whose level of

performance is between 83% and 100% of the standard and 120% of the ordinary piece rate is

given to workers who produce more than 100% of the standard output.

This method is not as harsh as Taylor’s piece rate because penalty for slow workers is relatively

lower.

Advantages

Efficient workers are rewarded handsomely.

Disadvantages

(i) Wide gap in slabs of differential wage rate

(ii) Over emphasis in high production rate

d. Gant’s task and bonus plan
Gant’s task and bonus plan is based on careful time and motion study. A standard time is

fixed for doing a particular task, worker’s actual performance is compared with the standard time

and his efficiency is determined. If a worker takes more time than the standard time to complete

the task (i.e., his efficiency is below 100%), he is given wages for the time taken by him and if a

worker takes the standard time to perform the task (i.e., efficiency is 100%), he is given wages

for the standard time and a bonus of 20% on the wages earned.

If the worker completes the task in less than the standard time he is given wages for the

standard time plus a bonus of 20% of the wages for the standard time. In other words, if a

worker’s performance is more than 100% he is given piece wages plus bonus at 20% of piece

wages. Thus, with every reduction in time, the plan ensures progressive increase in total wages.

For this reason, the plan is also known as “Progressive Rate System”.

Advantages:

1. The plan is not as harsh as the Taylor’s differential piece rate is. Therefore, it is more

acceptable to the workers.
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2. It is simple to understand.

3. It ensures guaranteed time wages to the worker who is below average workers.

4. It makes distinction between efficient and inefficient workers because the system ensures time

wages for sub-standard workers and piece wages plus 20% bonus for standard and super-

standard workers. Increasing rate of bonus is very satisfying to the efficient workers, so every

worker tries to become more efficient.

5. Fixed cost per unit decreases with increase in production due to incentive for efficiency given

under this scheme of wage payment.

Disadvantages:

1. Like Taylor’s differential piece rate method, it divides the workers into competing

categories—one who earns the bonus and the other who does not earn the bonus. This brings

disunity among workers and becomes unacceptable to the labour union.

2. The guaranteed time wages may not encourage efficiency if workers feel satisfied with the

time wages.

Premium and Bonus Plan

The object of a premium plan is to increase the production by giving an inducement to

the workers in the form of higher wages for less time worked.

Under a premium plan, a standard time is fixed for the completion of a specific job or operation

at an hourly rate plus wages for a certain fraction of the time saved by way of a bonus. The plan

is also known as incentive plan because a worker has the incentive to earn more wages by

completing the work in less time.

This system of wage payment is in between the time wage system and piece work system. In

time wage system, worker does not get any reward for the time saved and in piece work system,

the worker gets full payment for time saved whereas in a premium plan both the worker and the

employer share the labour cost of the time saved.

The following are some of the important premium plans.

(i) Halsey Premium Plan: Under this method, the worker is given wages for the

actual time taken and a bonus equal to half of wages for time saved. The standard time for

doing each job or operation is fixed. In practice the bonus may vary from 33⅓ %  to 66⅔ %
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of the wages of the time saved.

Thus if S is the standard time, T the time taken, R the labour rate per hour, and % the

percentage of the wages of time saved to be given as bonus, total earnings of the worker will

be:

T x R + % (S-T) R

Under Halsey-Weir plan, the premium is set at 30% of the time saved.

(ii) Rowan Plan: The difference between Halsey plan and Rowan Plan is the calculation

of the bonus. Under this method also the workers are guaranteed the time wages but

the bonus is that proportion of the wages of the time taken which the time saved bears

to the

standard time allowed.

Total Earnings = T x R + S-T x T x R

S

LABOUR TURNOVER

Labour turnover denotes the percentage change in the labour force of an organisation. High

percentage of labour turnover denotes that labour is not stable and there are frequent changes in

the labour force because of new workers engaged and workers who have left the organisation. A

high labour turnover is not desirable.

The definitions of labour turnover are given below:

(1) Labour turnover according to separation method:

This definition does not take into consideration the fact of surplus labour. This definition will

give incorrect result when the surplus workers are discharged because labour turnover calculated

in this way will be high.

(2) Labour turnover according to flux method:
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This definition will not be applicable when the organisation is expanding. In such a case, many

new workers are engaged and there may be no separation; even then labour turnover calculated

will be high.

This definition will misguide when an organisation has reached its optimum size and does not

require expansion at all. In such a case, labour turnover, as per this definition, will show half the

actual percentage of labour turnover.

(4) Labour turnover according to replacement method:

This definition takes into account the surplus labour. This definition will also give correct labour

turnover when the factory is expanding because all additions are not to be taken only workers

replaced due to leavers are to be taken. Therefore, this definition can be taken to be the most

reliable definition out of all the definitions given above.

Illustration 1:

From the following information, calculate the labour turnover rate and labour flux rate:



KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: II BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 23/26

KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: II BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 23/26

KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: II BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 23/26



KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: II BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 24/26



KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: II BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 25/26

POSSIBLE QUESTIONS

Part – B

11. The ‘received’ side of the stores ledger account shows the following particulars:

Jan 1 Opening balance: 500 units @ Rs. 4

Jan 5 Received from vendor: 200 units @ Rs. 4.25

Jan 12 Received from vendor: 150 units @ Rs. 4.10

Jan 20 Received from vendor: 300 units @ Rs. 4.50

Jan 25 Received from vendor: 400 units @ Rs. 4

Issues of materials were as follows:

Jan. 4 – 200 units; Jan. 10 – 400 units; Jan. 15 – 100 units; Jan. 19 – 100 units; Jan. 26 –

200 units; Jan. 30 – 250 units;

Issues are to be priced on the principle of ‘First in First out’. Write out the Stores ledger

Account in respect of the materials for the month of January.

12. What is EOQ and calculate the EOQ from the following information. Also state the

No. of orders to be placed in a year.

Consumption of materials per annum 10,000 Kgs.

Order placing costs per order Rs.50

Cost per Kg. of raw materials Rs.2

Storage costs 8% on average in inventory.

13. From the following particulars calculate:

a) Re-order level b) Minimum level and c) Maximum level

Normal usage 100 units per day

Minimum usage 60 units per day

Maximum usage 130 units per day

Economic order quantity 5000 units

Re-order period 25 to 30 days

14. From the following particulars supplied by the personal department of a company,

calculate labour turnover:

Total number of employees at the beginning of the month 2010

Number of employees who are recruited during the month 30
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Number of employees who left during the month 50

Total number of employees at the end of the month 1990
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UNIT-III

SYLLABUS

Overhead Costing – Methods of Allocation – Determination of Overhead Rates – Functional

Analysis – Factory, Administration, Selling and Distribution Over Heads Book Keeping –Non

Integrate Accounts – Integrate Accounts.

OVERHEAD COSTING

Cost related to a cost center or cost unit may be divided into two i.e. Direct and Indirect

cost. The Indirect cost is the overhead cost and is the total of indirect material cost, indirect

labour cost, indirect expenses. CIMA defines indirect cost as “expenditure on labour, materials

or services which cannot be economically identified with a specific saleable cost per unit”.

Indirect costs are those costs which are incurred for the benefit of a number of cost centres or

cost units. So any expenditure over and above prime cost is known as overhead. It is also called

‘burden’, ‘supplementary costs’, ‘on costs’, ‘indirect expenses’.

Overheads can be classified on the following basis:

i) Function-wise classification: Overheads can be divided into the following categories on

functional basis.

(a) Manufacturing or production overheads e.g.:- indirect materials like lubricants,

cotton wastes, indirect labour like salaries and wages of supervisors, inspectors,

storekeepers, indirect expenses like rent, rates and insurance of factory, power,

lighting of factory, welfare expenses like canteen, medical etc.

(b) Administration overheads e.g.:- indirect materials like office stationery and

printing, indirect labour salaries of office clerks, secretaries, accountants, indirect

expenses rent, rates and insurance of office, lighting heating and cleaning of

office, etc.

(c) Selling and Distribution overheads e.g.:- indirect materials like catalogues,

printing, stationery, price list, indirect salary of salesmen, agents, travellers, sales

managers, indirect expenses like rent, rates and insurance of showroom, finished

goods, godown etc., advertising expenses, after sales service, discounts, bad debts

etc.
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ii) Behavior-wise classification: Overheads can be classified into the following categories

as per behavior pattern.

(a) Fixed overheads like managerial remuneration, rent of building, insurance of

building, plant etc.

(b) Variable overheads like direct material and direct labour.

(c) Semi-variable overheads like depreciation, telephone charges, repair and

maintenance of buildings, machines and equipment etc.

iii) Element-wise classification: Overheads can be classified into the following categories

as per element.

(a) Indirect materials

(b) Indirect labour

(c) Indirect expenses

Allocation of overheads

Allocation of overheads is assigning a whole item of cost directly to a cost centre. An

item of expense which can be directly related to a cost centre is to be allocated to the cost centre.

For example, depreciation of a particular machine should be allocated to a particular cost centre

if the machine is directly attached to the cost centre.

Apportionment of overhead

Apportionment of overhead is distribution of overheads to more than one cost centre on

some equitable basis. When the indirect costs are common to different cost centers, these are to

be apportioned to the cost centers on an equitable basis. For example, the expenditure on general

repair and maintenance pertaining to a department can be allocated to that department but has to

be apportioned to various machines (Cost Centers) in the department. If the department is

involved in the production of a single product, the whole repair & maintenance of the department

may be allocated to the product.

Primary and Secondary Distribution of Overheads

In case of multi-product environment, there are common service cost centres which are

providing services to the various production cost centres and other service cost centres. The costs

of services are required to be apportioned to the relevant cost centres. First step to be followed is

to apportion the overheads to different cost centres and then second step is to apportion the costs
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of service cost centres to production cost centres on an equitable basis. The first step is termed as

primary distribution and the second step is termed as secondary distribution of overheads.

Absorption of overheads

Absorption of overheads is charging of overheads from cost centres to products or

services by means of absorption rates for each cost center which is calculated as follows :

Overhead absorption Rate = Total overheads of the cost centre / Total quantum of

base

The base (denominator) is selected on the basis of type of the cost centre and its

contribution to the products or services, for example, machine hours, labour hours, quantity

produced etc.

Overhead absorbed = Overhead absorption rate x units of base in product or service

APPORTIONMENT AND ABSORPTION OF PRODUCTION OVERHEADS

Overheads are to be apportioned to different cost centres based on following two

principles :

i) Cause and Effect - Cause is the process or operation or activity and effect is the

incurrence of cost. Apportionment of overheads based on this criterion ensures

better rationality as it is guided by the relationship between cost object and cost.

ii) ii) Benefits received – overheads are to be apportioned to the various cost

centres in proportion to the benefits received by them.

Primary Distribution of overheads :

Basis of primary apportionment of items of production overheads is to be selected to

distribute them among the cost centres following the above two principles. Basis of

apportionment must be rational to distribute overheads. Once the base is selected, the same is to

be followed consistently and uniformly. However, change in basis for apportionment can be

adopted only when it is considered necessary due to change in circumstances like change in

technology, degree of mechanization, product mix, etc. In case of such changes, proper

disclosure in cost records is essential.

Secondary Distribution of Overheads :

Secondary distribution of overheads may be done by following either Reciprocal basis or

Non-Reciprocal Basis. While reciprocal basis considers the exchange of service among the
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service departments, non-reciprocal basis considers only one directional service flow from a

service cost centre to other production cost centre(s).

Secondary Apportionment of Overheads on Reciprocal Basis

The services rendered by certain service cost centres are also utilized by other service

cost centres. In reciprocal secondary distribution, the cost of service cost centres are apportioned

to production cost centres as well as other service cost centres. In such case, any one of the

following three methods may be followed :

I. Repeated Distribution Method

II. Trial & Error Method

III. Simultaneous Equation Method

Repeated Distribution Method

Steps to be followed under this method are :

i) The proportion at which the costs of a service cost centres are to be distributed to

production cost centres and other service cost centres are determined.

ii) Costs of first service cost centres are to be apportioned to production cost centres and

service cost centres in the proportion as determined in step (i).

iii) Similarly, the cost of other service cost centres are to be apportioned.

iv) This process as stated in (ii) and (iii) are to be continued till the figures remaining

undistributed in the service cost centres are negligibly small. The negligible small

amount left with service centre may be distributed to production cost centres.

Trial and Error Method

This method is to be followed when the question of distribution of costs of service cost

centres which are interlocked among themselves arises. In the first stage, gross costs of services

of service cost centres are determined and then in the second stage, costs of service centres are

apportioned to production cost centres. Steps to be followed :

i) The proportion at which the costs of a service cost centre to be distributed to

production cost centres and other service cost centres is determined.

ii) Cost of first service cost centre is distributed to the other service centres in the

proportion of service they received from the first as assessed in step (i).

iii) In the next step, total cost of second service cost centre so arrived has to be
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distributed to the other service centres in the proportion of service they

received from the second as assessed in step (i).

iv) Similarly, the cost of other service cost centres are to be apportioned to the

service cost centres.

v) This process as described in (iii) and (iv) is to be continued till the figures

remaining undistributed in the service cost centres are negligibly small.

vi) At the last, total cost of service cost centres to be distributed to production cost

centres.

Simultaneous Equation Method

The simultaneous equation method is to be adopted to take care of secondary distribution

of cost of service cost centres to production cost centres with the help of mathematical

formulation and solution. Steps to be followed :

i) Proportion of service benefits received by different cost centres from a cost

centre are assessed on the basis of records

ii) The same ratios are used as coefficients in the equations framed for

apportionment of cost of service cost centres to production cost centres.

iii) Solution of the equations gives the cost of service cost centres.

iv) Cost of service cost centres to be distributed to production cost centres

Secondary Apportionment of Overheads on Non-Reciprocal basis

In non-reciprocal secondary distribution, the costs of service cost centres are apportioned

to the production cost centres. Steps involved are :

i) The cost of first service cost centre is apportioned on a suitable basis to

production cost centres.

ii) The next step is to apportion the cost of second service centre to the production

cost centres as indicated in stage (i).

iii) The process is to be continued till the costs of all service cost centres are

apportioned.

Absorption of Production Overheads and production capacity

Overheads shall be analysed into variable overheads and fixed overheads. The variable

production overheads shall be absorbed to products or services based on actual capacity
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utilisation.

The fixed production overheads and other similar item of fixed costs such as quality

control cost shall be absorbed in the production cost on the basis of the normal capacity or actual

capacity utilization of the plant, whichever is higher.

In case of less production than normal, under-absorption of overheads shall be adjusted

with Costing Profit & Loss Account. In case of higher production than normal, the over-

absorption of overheads shall also be adjusted with Costing Profit & Loss Account.

Apportionment and absorption of Administrative Overheads

Administrative overheads include the following items of cost :

Printing and stationery, other office supplies Employees cost – salaries of administrative staff

Establishment expenses – Office rent & rates, insurance, depreciation of office building and

other assets, legal expenses, audit fees, bank charges etc.

Administrative overheads are to be collected in different cost pools such as :

- General Office

- Personnel department

- Accounts department

- Legal department

- Secretarial department etc

Administrative overheads are to be further analysed into two – one for production

activities and other for sales and distribution activities. Costs collected under the cost pools

indicated above are to be distributed to administrative overheads relating to production activities

and administrative overheads relating to selling and distribution activities on rational basis for

each cost pool.

Administrative overheads relating to production activities are to be apportioned to

different production cost centres on the basis conversion costs of production cost centres. The

apportioned overheads are absorbed to products on the basis of the normal capacity or actual

capacity, whichever is higher.

In case of under-absorption or over-absorption of administrative overheads relating to

production, the same shall also be adjusted with Costing Profit & Loss Account.

Apportionment and absorption of Selling overheads and Distribution overheads
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The selling overheads and distribution overheads are collected under different cost pools

such as :

Selling Overheads :

(i) Sales Employees cost

(ii) Rent

(iii) Travelling expenses

(iv) Warranty claim

(v) Brokerage & Commission

(vi) Advertisement relating to sales and sales promotion

(vii) Sales incentive

(viii) Bad debt etc

Distribution Overheads :

(i) Secondary Packaging

(ii) Freight & forwarding

(iii) Warehousing & storage

(iv) Insurance etc.

Re-apportionment of Service Department Costs to Production Departments

Service department costs are to be reapportioned to the production departments or the cost

centres where production is going on. This process of re-apportionment of overhead expenses is

known as ‘Service Distribution’. The following is a list of the bases of apportionment which

may be accepted for the service departments noted against.

Service Department Cost Basis of Apportionment

1. Maintenance Department

2. Payroll or time-keeping department

3. Store keeping department

-Hours worked for each department

-Total labour or Machine hours or number of

employees in each department
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4. Employment or Personnel department.

5. Purchase Department

6. Welfare, ambulance, canteen service,

recreation room expenses.

7. Building service department

8. Internal transport service or overhead

crane service

9. Transport Department

10. Power House (Electric power cost)

- no. of requisitions or value of materials of

each department.

- Rate of labour turnover or number of

employees in each department.

-no. of purchase orders or value of

materials -No. of employees in each

department. -Relative are in each

department

-Weight, value graded product handled,

weight and distance travelled.

-crane hours, truck hours, truck mileage,

truck tonnage, truck tonne-hours, tonnage

handled, number of packages.

–wattage, horse power, horse power

machine hours, number of electric points etc.

FACTORY OVERHEAD COSTS

On financial statements, each product must include the costs of the following:

1. Direct material

2. Direct labour
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3. Manufacturing (or factory) overhead

According to generally accepted accounting principles (GAAP), manufacturing overhead

must be included in the cost of Work in Process Inventory and Finished Goods Inventory on a

manufacturer's balance sheet, as well as in the Cost of Goods Sold on its income statement.

As their names indicate, direct material and direct labour costs are directly traceable to

the products being manufactured. Manufacturing overhead, however, consists of indirect factory-

related costs and as such must be divided up and allocated to each unit produced. For example,

the property tax on a factory building is part of manufacturing overhead. Although the property

tax covers an entire year and appears as one large amount on just one tax bill, GAAP requires

that a portion of this amount be allocated or assigned to each product manufactured during that

year.

Some of the costs that would typically be included in manufacturing overhead include:

1. Material handlers (forklift operators who move materials and units).

2. People who set up the manufacturing equipment to the required specifications.

3. People who inspect products as they are being produced.

4. People who perform maintenance on the equipment.

5. People who clean the manufacturing area.

6. People who perform record keeping for the manufacturing processes.

7. Factory management team.

8. Electricity, natural gas, water, and sewer for operating the manufacturing facilities and

equipment.

9. Computer and communication systems for the manufacturing function.

10. Repair parts for the manufacturing equipment and facilities.

11. Supplies for operating the manufacturing process.

12. Depreciation on the manufacturing equipment and facilities.

13. Insurance and property taxes on the manufacturing equipment and facilities.

14. Safety and environmental costs.

Note that all of the items in the list above pertain to the manufacturing function of the

business. Since the costs and expenses relating to a company's administrative, selling, and

financing functions are not considered to be part of manufacturing overhead, they are not
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reported as part of the final product cost on financial statements. Rather, nonmanufacturing

expenses are reported separately (as SG&A and interest expense) on the income statement during

the accounting period in which they are incurred.

ADMINISTRATION OVERHEAD

Administration overhead is the indirect expenditure incurred for performing

administrative functions. It includes expenses for formulating the policy, directing the

organisation, controlling the operations of an undertaking and motivating the staff in order to

attain the goals of the enterprise. Naturally, these expenses are not associated with production on

sales or distributions or research and development.

Examples of administration overheads are- Office Rent, Office Salaries, Office Lighting,

Insurance, Establishment charges, Postage, Repairs, Legal expenses, Audit fees, Depreciation of

furniture, Stationery, Travelling expenses, Conveyance, General administrations/management

expenses, Directors’ fee, Directors’ remuneration, Bank charges, etc. These expenses are,

usually, fixed in nature and are not affected by the quantity of production or sales.

Accounting Treatment of Administration Overhead:

There are three methods that are used for the treatment of administration overhead viz.,

(a) Apportionment between production and Selling and Distributions Departments.

(b) Transfer to Costing Profit and Loss Account; and

(c) Inclusion as a separate item of Cost.

(a) Apportionment between Production, Selling and Distribution Department:

Under this method, administration overheads are incurred only for two important

departments i.e., (i) Production and (ii) Selling and Distribution. As the administration overheads

are incurred for the above two departments, the same should be apportioned between them on a

suitable basis considering the nature and type of expenses although it is not an easy task to find

out a suitable basis of apportionment.



KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: III BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 11/20

Usually the following basis is to be followed:

It may be mentioned here that the apportionment of administration overhead to production is

treated in the same manner as other items of overhead, (i.e. apportionment to production

department and service department).

(b) Transfer to Costing Profit and Loss Account:

Under this method, it is assumed that administration overheads do not have any direct

relationship with production and sales, rather they are treated as fixed/period cost and, hence,

these overheads should be transferred to Costing Profit and Loss Account. Moreover, this

administration overhead is not concerned with day-to-day activities and does not pay much

attention to production or sales, rather they are related to other important factors like formulating

policy, relation with the labour and Govt., etc., That is why, the entire amount of administrations

expenses are charged to Costing Profit and Loss Account.

(c) Inclusion as a Separate item of Cost:

Under this method, administration overhead is treated as a separate item of cost on the

assumption that administration is a separate function like other functions (e.g., production/sales
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etc.) and should be charged to products which are completed and sold although it is very difficult

to find out a suitable basis for absorption. The reason is that administration overhead relates to

formulate policy to direct organisation, to control operation, to motivate employees etc.

However, the bases of absorption are:

(i) Factory Cost;

(ii) Net Sales Value or Quantity;

(iii) Gross Profit on Sales

(iv) No. of units sold and manufactured;

(v) Conversion Cost;

(vi) Selling Cost.

It is calculated as:

Control of Administration Overhead:

It has already been pointed out above that administration overheads are fixed in nature and, as

such, they are primarily uncontrollable.

However, these overheads can be controlled with the help of any one of the following:

(i) Comparing with past performances/results;

(ii) By Budgetary control techniques; and

(iii) By the application of Standard Costing.

SELLING AND DISTRIBUTION OVERHEAD

Selling expenses are those expenses which are incurred to promote sales and service to

customers. Thus, selling overhead includes Salesmen’s Salaries, Commission, Travelling

expenses, Cost of advertisement, Posters, Cost of price list and catalogue, Debt collection

charges, Bad debts, Free gift, Showrooms expenses, After-sale service, Legal expenses for

recovering debt, etc.

Distribution expenses, on the other hand, are those which are incurred for warehousing

and storage, packing for goods sent and making the goods available for delivery to customers.

So, in broader sense of the item, distributions expenses include- Cost of storing, Cost of

warehousing, Cost of packing, Cost of delivery, and Cost of preparation of challan.
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such, they are primarily uncontrollable.

However, these overheads can be controlled with the help of any one of the following:

(i) Comparing with past performances/results;

(ii) By Budgetary control techniques; and

(iii) By the application of Standard Costing.

SELLING AND DISTRIBUTION OVERHEAD

Selling expenses are those expenses which are incurred to promote sales and service to

customers. Thus, selling overhead includes Salesmen’s Salaries, Commission, Travelling

expenses, Cost of advertisement, Posters, Cost of price list and catalogue, Debt collection

charges, Bad debts, Free gift, Showrooms expenses, After-sale service, Legal expenses for

recovering debt, etc.

Distribution expenses, on the other hand, are those which are incurred for warehousing

and storage, packing for goods sent and making the goods available for delivery to customers.

So, in broader sense of the item, distributions expenses include- Cost of storing, Cost of

warehousing, Cost of packing, Cost of delivery, and Cost of preparation of challan.
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Thus, from the above discussion, it becomes clear that there are two types of expenses for

two types of functions. The earlier expenses are incurred for promoting sales whereas the latter

expenses are incurred from receiving an order to despatch of goods.

Examples of selling and distribution expenses are:

Selling Overhead:

Fixed:

Showroom expenses, Sales office expenses, Cost of market research, Cost of samples etc.

Variable:

Commission on Sales, Travelling Salesmen’ Salary, Carriage Outwards, Discount Allowed, Bad

Debts etc.

Distribution Overhead:

Fixed:

Storage, Godown Rent, Rates and Insurance, Distributors’ Commission, etc.

Variable:

Insurance on goods-in-transit, Packing charges, etc.

Accounting Treatment of Selling and Distribution Overheads:

Selling and Distribution expenses are apportioned as per different functions viz.,

Transportation, Advertisement and Sale Promotion, Storage and Warehousing, Direct selling,

Credit and Collection etc. Again, each of them can be sub-divided into various territories like,

South, North, West etc.

It must be remembered here that all identifiable expenses (e.g., commission on sales,

travelling expenses of salesmen etc.) can directly be allocated to the respective territories. But

identifiable expenses are apportioned on a suitable basis. However, we are highlighting here the

basis of apportionment of Selling and Distribution expenses.
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It is needless to say that all expenses are to be added to cost of products sold. We have

already shown the classification of a Selling and Distribution overheads into fixed and variable

types. This classification is absolutely required for effective control.

However, fixed overheads are allocated/ apportioned among the products sold under any

one of the following basis:

(a) Works Cost;

(b) Gross Profit on Sales;

(c) No. of Units Sold;

(d) Percentage on Selling Price.

(a) Works Cost:

Under this method, percentage of selling overheads to works cost is to be found out in order to

absorb selling and distribution overheads.

For example, if works cost amounts to Rs. 40,000 and Selling and Distribution overhead

amounts to Rs. 10,000, absorption of Selling and Distribution cost will be



KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: III BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 15/20

(b) Gross Profit on Sales:

This method takes a larger share of selling and distribution overhead than are applied to

goods presenting a wide margin of profit, and vice versa.

(c) No. of Units Sold:

Under this method, in order to ascertain the per unit rate, total selling and distribution

overheads are divided by the total number of units. This method is particularly applicable where

the company sales a particular or single kind of product.

For example, say, company X Ltd. produces only one type of T. V. sets. In a year the

company produces 1,000 T. V. sets and total selling and distribution overheads are Rs. 1, 00,000

then absorption of selling and distribution p.u. will be Rs. 100 (i.e. Rs. 1, 00,000/1,000)

(d) Percentage of Selling Price:

Under this method, the total fixed selling and distribution overheads are absorbed on the basis of

percentage on selling price. The rate is calculated in advance on normal fixed selling and

distribution expenses and on normal selling price. For example, if fixed selling and distribution

expenses amount to Rs. 25,000 and the expected sales are Rs. 20,00,000, the percentage will be

12.5% (i.e., Rs. 25,000/ 20,00,000 x 100) on sales.

Control of Selling and Distribution Overhead:

It is very difficult to control the selling and distribution overhead as most of them are

fixed in nature. Only variable portion may be controlled.

NON-INTEGRATED AND INTEGRATED ACCOUNTING

Soft Accounting Applications are mostly Integrated Accounting Applications except for

Soft Accounting – Standard which is Non-Integrated Accounting Application. Therefore here it

is necessary to explain the difference between Non-Integrated and Integrated Accounting.

Financial Accounting is basically Non-Integrated Accounting which accounts for only

the monetary aspects of every business transaction. You purchase hundreds of inventory items

but to record purchase, you only debit one “Purchase” Account with purchase value without any
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mention of quantities involved. Similarly you sell different trade items and record them by

giving credit to only “Sales” Account. Consequently your Financial Accounts fail to tell you the

complete story of your business affairs. You get a Trial Balance and Final Accounts. You know

your Gross Profit and Net Profit. You also know financial worth of your business on the Balance

Sheet date. The things you don’t know in this way are the details of your inventory items

purchased/ sold, inventory stocks, inventory costs taken up in every sales transactions

(Trading Businesses) or ongoing production activities (Manufacturing Businesses).

To overcome these limitations of Financial Accounting, large businesses usually adopt

and implement another difficult and expensive Accounting System which is known as Cost and

Management Accounting. This is also non-integrated accounting method because it functions

parallel to the Financial Accounting. Small businesses end up in the maintenance of only some

“Stock Registers”, in addition to the usual Financial Accounting. It means that under non-

integrated accounting systems, Financial Accounting and Inventory/Cost Accounting

books/ ledgers are separately maintained.

To explain an Integrated Accounting System, we here assume that reader already knows

the usual procedure of recording transactions where entries are basically recorded in Cash Book

and General Journal, then posted to Ledger, then summarized in the form of Trial Balance and

then results are taken in the form of Final Accounts.

An Integrated Accounting System would be one where only a single set of books would

contain all the information of Financial Accounting as well as Inventory/ Cost

Accounting. Such a system would be very difficult to maintain if accounts are maintained

manually. But most available Computerized Accounting Systems are Integrated Systems.

Here we take the example of an Integrated Accounting System (our own product by the

name: “Soft Accounting System”) and explain how it’s functionality differs with Non-

Integrated manual Accounting system.

Whereas in manual Financial Accounting, you enter Cash/Bank transactions in Cash

Book and enter all other transactions in General Journal; in Soft Accounting System, you record

Sale/Purchase transactions in Sale Invoice or Purchase Invoice. In the case of cash purchase/sale,

that entry shall automatically be recorded in Cash Book. And in the case of credit purchase/sale,

there will be no need to record it in General Journal. With a simple entry in sale or purchase
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invoice, you will not only get all the Financial Accounting Ledgers and Trial Balance, you will

also automatically get your inventory and cost registers. If yours is a trading Business, then with

a simple entry in sales invoice form, you will also automatically get Cost of that particular Sale

calculated on the basis of both Weighted Average Costing and LIFO Costing methods.

If yours is a manufacturing business, then there is another simple Production Entry Form.

You will enter in it only the basic ongoing production data but as a result, not only you will get

detailed Production Reports, you will also get updated inventory registers of raw-materials and

semi-finished items with a proper breakup of location/process where those semi-finished items

have reached so far. When final production process on semi-finished items have been performed,

then automatically those semi-finished items are removed from semi-finished inventory registers

and go to Finished Goods Inventory Register. And when you will enter new sale invoice, then

finished goods stock shall be automatically reduced from the Finished Goods Inventory Register.

Not only this, you will also get detailed automated Direct Labor Payroll Reports. In addition, you

will also get automated costing reports like Batch Cost Report and like etc. And since Soft

Accounting System is an Integrated System, so you will also get automatically updated

information in your Financial Accounting Ledgers and Trial Balance as well.
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POSSIBLE QUESTIONS

Part – B

11. Amit Company has five departments; P, N, R, S are producing departments and T is a

Service department. The actual costs for a period are as follows:

Rs.

Repairs 2,000

Rent 2,500

Depreciation 1,200

Supervision 4,000

Insurance 1,500

Employer’s liability of employee’s

Insurance 600

Light 1,800

The following data are also available in respect of the five departments:

Dept. P Dept. N Dept. R Dept. S Dept. T

Area Sq. ft 140 120 110 90 40

No. of workers 25 20 10 10 5

Total wages (Rs.) 10,000 8,000 5,000 5,000 2,000

Value of plant (Rs.) 20,000 18,000 16,000 10,000 6,000

Value of Stock (Rs.) 15,000 10,000 5,000 2,000 -

Apportion the costs to the various departments on the equitable basis.

12.  A company is producing 3 types of products A, B and C. The sales territory of the company

is divided into 3 areas X,Y and Z.

The estimated sales of the year 2017 are as under:

Product Territory

X (Rs.) Y (Rs.) Z (Rs.)

A 50,000 20,000 _

B 30,000 _ 80,000

C _ 70,000 40,000

The budgeted advertising cost is as under:
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Territory

X (Rs.) Y (Rs.) Z (Rs.) Total

Local cost 3,200 4,500 4,200 11,900

General cost - - - 5,800

You are required to find the advertising cost percent on sales for each product and territory

showing how you will present the statement to the management.

13. How would you apportion the following expenses between departments A and B?

Rs. Rs.

Rent and Rates 360 Insurance 130

Stores expenses 742 Fire insurance 260

General factory labour 1,284 Depreciation 906

Holiday pay 520 Plant repairs 450

Information regarding the departments available:

A B

Floor space 60 x 115 45 x 100

No. of employees 18 42

Annual direct wages Rs. 5,000 Rs. 6,000

Annual direct labour hours 36,000 92,500

Plant value Rs. 10,000 Rs. 2,500

14. In a factory, there are two service departments S1 and S2 and three production departments

P1,P2 ad P3. In April 2010, the departmental expenses were:

Departments :P1 P2 P3 S1 S2

Rs. :6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

The service department expenses are allocated on a percentage basis as follows:

Service Departments Production Departments Service Departments

P1 P2 P3 S1 S2

S1 30% 40% 15% - 15%

S2 40% 30% 25% 5% -
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Prepare a statement showing the distribution of two service departments’ expenses to

these departments by Simultaneous Equation Method.
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UNIT-IV

SYLLABUS

Job costing – Batch Costing – Application of Job Costing – Reconciliation of Cost and Financial

Accounts – Operating Costing.

JOB COSTING

It means ascertaining costs of an individual job, work order or project separately.

According to ICMA London, “job costing is that form of specific order costing which applies

where work is undertaken to customer’s specific requirements and each order is of comparatively

of short duration.” Under this method of costing, each job is considered to be a distinct cost unit.

As such, each job is separately identifiable.

In the case of a job, work is usually carried out within the factory or workshop.

Sometimes, a job is accomplished even in the customer’s premises. This method of costing is

applicable to ship building, printing, engineering, machine tools, readymade garments, shoes,

hats, furniture, musical instruments, interior decorations etc.

Features:

1. Each job has its own characteristics, depending up on the special order placed by the

customer.

2. Each job is treated as a cost unit.

3. A separate job cost sheet is made out for each job on the basis of distinguishing numbers.

4. A separate work in progress ledger is maintained for each job.

5. The duration of the job is normally a short period.

6. Profit or loss is determined for each job independently of others

Advantages of Job costing:

1. It helps to distinguish profitable jobs from unprofitable jobs

2. It helps to identify defective work and spoilage with a department or person

3. Selling price of special orders can easily be fixed.

4. It helps to prepare estimates of cost for submitting quotations and tender for similar jobs

5. It helps to control future cost.
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Requisites of Job costing system:

1. A sound system of production control

2. An effective time booking system

3. Clearly defined cost centre

4. Appropriate overhead absorption rate, and

5. Proper material issue pricing method.

Procedure for Job order costing system:

The Procedure for job order costing system may be summarized as follows:-

1. Receiving an enquiry from the customer regarding price, quality etc

2. Make an estimation of the price of the job after considering the cost incurred for the

execution of similar job in the previous year

3. Receiving an order, if the customer is satisfied with the quotation price and other terms

of execution.

4. If the job is accepted, a production order is made by the Planning department.

5. The costs are collected and recorded for each job under separate production order

Number, and a Job Cost Sheet is maintained for that purpose.

6. On completion of job, a completion report is sent to costing department.

BATCH COSTING

Batch costing is a form of specific order costing. Job costing refers to costing of jobs that

are executed against specific orders whereas in batch costing items are manufactured for stock. A

finished product may require different components for assembly and may be manufactured in

economical batch lots.

When orders are received from different customers, there are common products among

orders; then production orders may be issued for batches, consisting of a predetermined quantity

of each type of product. Batch costing method is adopted in such cases to calculate the cost of

each such batch.

Cost per unit is ascertained by dividing the total cost of a batch by number of items

produced in that batch. In order to do that a Batch Cost Sheet is prepared. The preparation of

Batch Cost Sheet is similar to that of Job Cost Sheet. This method is mainly applied in biscuits
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manufacture, garments manufacture, spare parts and component manufacture, pharmaceutical

enterprises etc.

Illustration 1:

Batch No. A-110 incurred the following costs:

Direct Materials Rs 10, 000

ADVERTISEMENTS:

Department: A 800 labour hours @ Rs 5 per hour

B 1400 labour hours @ Rs 6 per hour

Factory overheads are absorbed on labour hour’s basis and the rates are Rs 7 per hour for

Department A and Rs 4 per hour for Department B. The firm uses a cost plus system for selling

prices and expects a 25% gross profit (sales value minus factory cost). Administrative overheads

are absorbed at 10% of selling price. Assuming that A-110 units were produced in Batch A-110,

calculate the selling price per unit.
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Production is usually done in batches and each batch can have any number of units of

Component in it. The optimum quantity for a batch is that quantity for which the setting up and

carrying costs are minimum, such an optimum quantity is known as Economic Batch Quantity or

Economic lot size.

Determination of the economic lot size is important in industries where batch costing is

employed.

Need for Determining Economic Lot Size:

The need for determining economic lot size arises as:

(i) Every time a component/product is to be made, setting up of the tool is involved. Because of

this some loss in production time will be there. Therefore, maximum number of units are

produced once the machine is set in order to reduce the cost per unit,

(ii) Such large production at one run will lead to accumulation of inventory and the costs related

thereto,

(iii) Thus there is a quantity for which reduced cost of production is just offset by costs of

carrying the quantity inventory. The determination of most economical batch quantity requires

consideration of many related factors of costs and economies.

The factors that influence the decision in this respect are:

(a) Set up cost,

(b) Manufacturing cost,

(c) Interest on capital,

(iv) Storage cost, and

(v) Rate of consumption.

Types of Costs in Batch Costing:

There are two types of costs involved in Batch Costing:

(i) Set up costs

(ii) Carrying costs.
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If the batch size is increased, set up cost per unit will come down and the carrying cost

will increase. If the batch size is reduced, set up cost per unit will increase and the carrying cost

will come down. Economic Batch quantity will balance both these opponent costs.

Illustration 2:

Compute the economic batch quantity for a company using batch costing with the

following information:

Illustration 3:

The annual demand of a product is 24,000 units. It is produced in batches and the largest size of

a single batch is 6,000 units. After each batch is complete, the set up cost is Rs. 750. The annual

carrying cost is Rs. 2.25 per unit.

Assume average inventory as one-half of the number of units made in each batch . Selecting 4, 6,

8, 12 and 24 batches per annum, determine annual costs of each and state the optimum number

of batches to minimize the total costs.
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Illustration 4:

The demand of an item is uniform at a rate of 25 units p.m. The set up cost is Rs. 30 each time a

production is made. The production cost is Rs. 3 per item and the inventory carrying cost is 50

paise per unit p.m. If the shortage cist is Rs. 3 per item p.m. determine how often to make a

production run and of what size? Also calculate re-order level.

Difference between Job Costing and Batch Costing:

In case of job costing, work is undertaken as an identifiable unit and cost of each job is

ascertained separately. Such a method of costing is suitable in case of motor workshop, printing

press and where manufacture of products is according to customers’ specific requirements.

Batch costing is extension of job costing. Job costing refers to costing of jobs that are

executed against specific orders whereas in batch costing items are manufactured for stock. In

batch costing a batch may represent a number of small orders passed through the factory in

batches. Each batch is treated as a unit of cost and is separately costed. Cost per unit is

ascertained by dividing the total cost of the batch by number of items produced in that batch.
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RECONCILIATION OF COST AND FINANCIAL ACCOUNTS

Meaning of Reconciliation:

Where cost accounts and financial accounts are separately maintained in two different

sets of books, the profit or loss shown by one may not agree with that shown by other. Therefore,

it becomes necessary that periodically the profit or loss shown by the two sets of accounts is

reconciled.

A memorandum of reconciliation is prepared showing the reasons for difference between the

results disclosed by each system. It is done to check the arithmetical accuracy of both sets of

accounts as well as to detect mistakes committed in the accounts.

2. Need for Reconciliation:

(a) It reveals the reasons for difference in profit or loss between cost and financial accounts.

(b) It ensures that no income or expenditure item has been omitted to record and there is no

under- or over-recovery of overheads.

(c) It helps in checking the arithmetical accuracy of both the sets of accounts.

(d) It ensures the reliability of cost accounts in order to correct ascertainment of cost of

production.

(e) It facilities internal control by highlighting the variations causing increase or decrease in

profit.

(f) It promotes co-ordination and co-operation between cost and financial accounting

departments in order to generate correct and reliable accounting data.

(g) It enables management to formulate policies regarding overheads, depreciation and stock

valuation.

(h) It ensures managerial decision-making.

3. Reconciliation Procedure:

The cost and financial accounts are reconciled by preparing a Reconciliation Statement or a

Memorandum Reconciliation Account.

(a) Reconciliation Statement:

The same principles of bank reconciliation will apply here. One may start with the profit

shown by one set of accounts (usually cost accounts) as base profit and items which do not tally
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are either added to it or deducted from it to get the profit shown by other set of accounts (i.e.,

financial accounts).

The treatment of items will be reversed if the starting point in the reconciliation statement is the

profit as per financial accounts.

A Proforma of reconciliation statement is shown below:

Note: In case of Loss, the amount shall appear as a minus item.

(b) Memorandum Reconciliation Account:

Here the reconciliation procedure is in the form of an account. The profit as per cost

accounts is the starting point and is shown on the credit side of this account. All items which are

added to costing profit for reconciliation are also shown on credit side.

The items to be deducted from costing profit for reconciliation are shown on the debit

side. The balancing figure gives the profit as per financial accounts. It is only a memorandum

account and does not form part of double entry system of book-keeping.
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4. Proforma of Memorandum Reconciliation Account:
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5. Practical Problems on Reconciliation of Cost and Final Accounts:

1. From the following data, prepare a Reconciliation Statement to find out profit as per

Financial Accounts:

2. From the following data, prepare a Reconciliation Statement:
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3. Prepare a Reconciliation Statement from the following data:
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4. Gain More Ltd. showed a net loss of Rs. 6,30,000 as per Financial Accounts for the year

ended 31 March 2011.
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The Cost Accounts, however, disclosed a loss of Rs. 5,00,000 for the same period. On

scrutiny of the two accounts the following are available:
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5. From the following information, prepare a Reconciliation Statement:

6. Prepare a Memorandum Reconciliation Account from the following details:

Profit as per cost accounts were of Rs. 60,000 while the profits as per financial accounts were of

Rs. 59,700.



KARPAGAM ACADEMY OF HIGHER EDUCATION
CLASS: III B.Com (PA) COURSE NAME: APPLIED COST ACCOUNTING

COURSE CODE: 15PAU502 UNIT: IV BATCH-2015-2018

Prepared by A.Muthusamy, Assistant Professor, Department of Commerce, KAHE Page 15/22

The value of opening and closing stock as shown in cost accounts and financial accounts

were as under:
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7. In a factory works overhead are absorbed @ 60% of labour and office expenses @ 20%

of works cost. The total expenditure is as follows:
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OPERATING COSTING (SERVICE COSTING)

It is the costing procedure used for determining the cost of per unit of service rendered. It

is a method of costing applied to undertaking which provides service rather than production of

commodities. The services may be in the form of transport, supply service, welfare service, etc.

There is a difference between operating costing and operation costing. Operating costing is a

method of costing designed to find out the cost of operating or rendering a service. On the other

hand, operation costing is a method of costing applied to determine the total cost and unit cost of

each operation. Though service undertakings are of different types, but here we discuss only

transport operating costing.

Transport costing:

Transport industries include Air, Water, Rail and Road. They render services to the

community at large. We have to give utmost care while selecting the cost unit. The cost unit of

other forms operation costing is quite different from that of a service undertaking. The cost unit

of a service organization is a composite unit. The important factors to be considered includes the

number of passengers, tonnage carried, distance covered etc.

Classification of Costs:

Operating costs of a transport undertaking comprising different items, which are classified under

the following three groups.

1. Standing or fixed charges: These charges are incurred in spite of the kilometers run. It

is fixed in nature. E.g. Insurance, Motor vehicle tax, license fee, rent, salary of operating

manager etc.

2. Maintenance charges: It includes semi variable expenses Eg. Tyres and tubes, repairs

and paintings etc.

3. Operating and running charges: These charges vary more or less in direct proportion to

kilometres. All the variable charges of running vehicles are included in this group.

Generally it includes, petrol, oil,, grease etc., wages of driver, attendant if payment is

related

to time or distance of trip etc.

In the place of the above classification, all expenses can be divided into two – fixed cost

and variable costs. Here, both maintenance charges and running charges are considered as
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variable charges.

Selection of Unit:

In transport costing, a composite unit such as passenger mile or passenger kilometre or

tone kilometre is often selected. Such unit takes into account both the number of passengers or

weight of goods carried and distance run.

Absolute passenger or commercial passenger/ tone km:

It is calculated by multiplying every part of distance travelled/covered with either weight carried

or passenger carried..  After getting the product of each journey we add all the products.  The

total is absolute ton/quintal km

In the case of goods transport the equation is

Distance of each part of journey x weight

carried

In the case of passenger transport, the following formula is used

Distance of each part of journey x No. of passengers taken for the same distance

Commercial method:

The following steps are used to find out the commercial tone km

a. Find out average trip load

b. Find out total distance of journey

c. Multiply a and b , the resultant figure is commercial tone km

OPERATING COST SHEET

Particulars Total cost Cost per unit

A. Fixed or standing charges
Garage rent

License fee

Insurance

Motor vehicle tax
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Interest on capital

Supervision

Office establishment

Administrative overheads Salary

of foreman , manager etc

Total

B. Maintenance charges:
Repairs and renewals Tyres and tubes

Paintings

Overhauling

Cleaning

Gas and electric charges

Spare parts and accessories

Total

C. Operating charges:
Petrol

Engine oil

Lubricating oil, grease etc

Wages of operators

Depreciation

Salaries of running staff
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Water

Total

Calculation of Depreciation:

If the rate of depreciation is not given, depreciation is calculated as

follows: Depreciation =Cost- scrap

Life in years

Depreciation per mile, or km = Depreciation

p.a Kms/miles

run p.a
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POSSIBLE QUESTIONS

Part - B

11. The profit shown in the financial accounts was Rs. 1,12,870 and for the same period the cost

accounts showed a profit of Rs. 27,040.

Examination of the accounts showed the following difference:

Cost Accounts Financial Accounts

(Rs.) (Rs.)

Depreciation 98,260 1,05,200

Stock Valuation:

Opening stocks 2,75,100 2,55,000

Closing stocks 1,82,180 1,87,500

Profit on sale of assets _ 8,500

Dividend received _ 26,350

Imputed rent charge 32,500 _

Reconcile the profit figures.

12. Mr. Rajesh owns a fleet of taxis and the following information is available from the records

maintain by him:

Number of taxis 10

Cost of each taxi Rs. 54,600

Salary of manager Rs. 700 p.m

Salary of accountant Rs. 500 p.m

Salary of cleaner Rs. 200 p.m

Salary of mechanics Rs. 400 p.m

Garage rent Rs. 600 p.m

Insurance premium 5% p.a

Annual tax Rs. 900 per taxi

Driver’s salary Rs. 350 p.m per taxi

Annual repairs Rs. 1000 per taxi
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Total life of a taxi is about 2,00,000 kms. A taxi runs, in all 3,000 kms in a month and 30% of

this distance has to be run without any passenger. Petrol consumption is one litre for every 10

kms. @ Rs. 4.41 per litre. Oil and other sundries are Rs. 10.50 per 100 kms.

Calculate the cost of running a taxi per km.

13. Global transports  owns Buses and the following information is available from the records

maintain by them:

Number of Buses 5

Cost of each Bus Rs. 2,50,000

Driver’s salary Rs. 10,000 p.m per bus

Salary of manager Rs. 7000 p.m

Salary of accountant Rs. 5000 p.m

Salary of cleaner Rs. 2000 p.m

Salary of mechanics Rs. 4000 p.m

Insurance premium 8% p.a

Annual tax Rs. 9000 per bus

Annual repairs Rs. 10000 per bus

Total life of a bus is about 2,00,000 kms. A bus runs, in all 3,000 kms in a month and 30% of

this distance has to be run without any passenger. Petrol consumption is one litre for every 5

kms. @ Rs. 45 per litre. Oil and other sundries are Rs. 22 per 100 kms.

Calculate the cost of running a bus per km.

14. From the following information, prepare only an estimate for Job No. 150:

Rs.

Direct material consumed 1,000

Direct wages paid 2,000

Factory expenses 60% on wages

Office expenses 20% on factory cost

The tender should include a profit of 20% on selling price.
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UNIT-V

SYLLABUS

Contract Costing – Progress Payment – Retention Money – Escalation Claim – Contract Account

– Process Account – Normal Loss – Abnormal Loss – Equivalent Units – Inter Process Profit –

Joint Product – By Product.

CONTRACT COSTING

It is a special form of job costing and it is the most appropriate method to be adopted in

such industries as building and construction work, civil engineering, mechanical fabrication and

ship building. In other words, it is a form of specific order costing which applies where the work

is undertaken to customer’s requirements and each order of long duration as compared to job

costing. It is also known as terminal costing.

The official CIMA terminology defines contract costing as “ a form of specific order

costing in which costs are attributed to individual contracts.”

Basic features:

1. Each contract itself a cost unit.

2. Work is executed at customers site

3. The existence of sub contract

4. Most of the expenses incurred upon the contracts are direct.

5. Cost control is very difficult in contract costing.

Types of contracts

Generally there are three types of contracts:

1. Fixed price contracts: Under these contracts both parties agree to a fixed contract price.

2. Fixed price contract  with Escalation clause

3. Cost plus contract: Under this contract no fixed price could be settled for a contract.

Contract Account

A contract account is a nominal account in nature. It is prepared to find out the cost of

contract and to know profit or loss made on the contract. A contractor may undertake a number

of contracts at a time. For each contract a separate account is opened. In the contract account all
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direct cost such as material, labour and other direct expenses incurred during an accounting

period are debited and the indirect expenses are apportioned on an equitable basis. The

differences between the two sides are known as Notional profit or notional loss.

SPECIAL TERMS IN CONTRACT ACCOUNT

1. Work in Progress: It is the unfinished contract at the end of the accounting period and it

includes amount of work certified and amount of work uncertified. Work in progress is

an asset, shown in the balance sheet by deducting there from any advance received from

the contractee.

2. Work certified: The sales value of work completed as certified by the architect is known

as ‘work certified’. In the case of contracts of long duration, the amount payable by the

customer to the contractor is based on the sales value of work done as certified by the

architect. At the end of the financial year, the total sales value of work done and certified

by the architect is credited to the contract account.

3. Work Uncertified: It means work which has been carried out by the contractor but

has not been certified by the architect. Sometimes, work which is complete remains

uncertified at the end of the financial year. The reasons for the same may be

a. Work not sufficient enough to be certified

b. Work has not reached the stipulated stage to qualify for certification

It is always valued at cost and credited to the contract account.

4. Retention money: - Regardless of the amount of work certified, the contractor is paid

a specified percentage of the same and the balance is held or retained by the

contractee. This is because of the fact that the contractee has to safe guard himself

against any contingency arising from the non fulfilment of the terms of the contract by

the contractor. The unpaid balance of work certified or the amount held back or

retained by the contractee is known as

‘retention money’.

5. Sub contract: Sometimes the contractor enters into contracts with another contractor

to give a portion of work undertaken by him. In such cases the work performed by the

subcontractor s forms a direct charge to the contract concerned. Sub contract cost will

be shown on the debit side of the contract account.
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6. Escalation clause: This is clause which is provided in the contract to cover up any

increase in the price of the contract due to increase in the prices of raw material or

labour or in the utilization of any other factors of production. If material and labour

utilization exceeds a particular limit, the customer agrees to bear the additional cost

occasioned by excessive utilization. Here, the contractor has to satisfy the customer

that excessive utilization is not the result of decreased efficiency.

SPECIMEN FORM OF CONTRACT ACCOUNT (Unfinished contract)

Contract A/C

To materials Xxx By work in progress:

To Labour Xxx Work Certified

To Plant Xxx xxx Xxx

To Overheads Xxx Work uncertified Xxx

To cost of sub contracts Xxx xxx

To Notional Profit c/d(B/F) Xxx By material returned Xxx

By plant Xxx

Xxx xxx Xxx

Less: Depreciation xx

To Profit and Loss A/C

Xxx

By material lying at site

Xxx

To WIP (B/F)

Xxx

Xxx

By Notional profit B/d

Xxx

======= ========

Treatment of Plant and Machinery:

One of the distinguishing features of a contract is the use of special plant and machinery. The

cost of these is capital expenditure, but yet, the usage of these should be reflected in the form of
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depreciation. There are two distinct methods of charging depreciation.

1. At the time of issue of plant to contract the contract account is debited with the full value

of the plant. At the end of the period contract account is credited with the depreciated

value. This method is used when plant and machinery is used at the contract site for a

long period.

2. In the second method, contract account is debited with an hourly rate of depreciation for

the

number of hours the plant is used on the contract. A cost centre is set up for each

machine. An estimate is made is made of the cost such as maintenance, depreciation,

driver’s wage etc to be incurred. The total of this cost is divided by the number of hours

that the machine is expected to be used.

Profit on Incomplete Contract:

In the case of a small contract extending over the financial period, profit or loss on the same may

be ascertained by crediting it with the contract price due by the contractee. This procedure cannot

be adopted in the case of contracts extending beyond the accounting period, and taking a long

time for completion. If there is any profit upon the incomplete contract, it cannot be taken as

actual profit. The profit upon the incomplete contract is called notional profit.

For the purpose of determining the amount of profit to be transferred to profit and loss

account and making provision for future contingencies, the following guidelines may be kept in

mind.

1. When the work has not reasonably advanced (1/4 or less than ¼) : - No profit should

be taken to the credit of p/L account in the case of contracts which have just commenced

and a small portion of the work is complete.

2. Where the work is complete more than ¼ but less than ½ of contract price: In this

case 1/3 of the notional profit as reduced by the percentage of cash received may be

credited to

profit and loss account. The usual

formula is Notional profit x1/3 x

Cash received

Work certified
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The balance of notional profit shall be kept as reserve till the completion

3. If the contract completed is more than 1/2 but less than 90%: Here 2/3 rd of the

notional profit should be taken to profit and loss account.

Notional profit x2/3 x Cash

received

Work

certified

The balance of notional profit shall be transferred to work in progress as reserve. It is to

be noted that in order to find out how much portion of contract is completed, work

certified should be compared with contract price.

4. If the contract is nearing completion: Here, estimated profit may be ascertained by

deducting the total cost of contract to date plus estimated additional expenses to complete

the contract , from the contract price. It is calculated by using the following formula

Estimated  profit x Cash received

Contract price

RETENTION MONEY

A contractor does not receive the full payment of the work certified by the surveyor.

Contractee retains some amount to be paid after some time, when it is ensured that there is not

default in the work done by the contractor. If any deficiency or defect is noticed, it is to be

rectified by the contractor before the release of the retention money. Thus, the retention money

provides a safeguard against the default risk in the contracts.

Meaning of Escalation clause :

Escalation clause in a contract provides that if during the period of execution of a

contract, the prices of materials, rates of labour etc. rise beyond a specific limit, the contract

price will be increased by specified rate or amount. Escalation clause does not cover that part of

increase in costs which is caused due to inefficiency or wrong estimation.

Circumstances prompting insertion of escalation clause in the contract are :

(i) Contract is for a long period where input cost can change significantly.

(ii) Raw material cost are expected to increase.
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(iii) Labour rates are subject to frequent upward revisions by the regulatory authorities.

(iv) Certain other important inputs, such as power, fuel, etc. are subject to frequent price hikes.

(v) Total quantity of materials and labour to be used for the contract cannot be anticipated with

reasonable accuracy and are likely to surpass the projections.

Escalation clause aims at safe guarding the interest of the contractor against unforeseen

rise in cost. On the other hand, de-escalation clause provides for a decrease in the contract price

due to decrease in the price of inputs so that the benefits of price decreases is passed on the

contractee.

PROCESS COSTING

Process costing is the method of costing applied in the industries engaged in continuous

or mass production. Process costing is a method of costing used to ascertain the cost of a product

at each process or stage of manufacturing.

According to ICMA terminology, “Process Costing is that form of operation costing

which applies where standardized goods are produced”.

So it is a basic method to ascertain the cost at each stage of manufacturing. Separate

accounts are maintained at each process to which expenditure incurred. At the end of each

process the cost per unit is determined by dividing the total cost by the number of units produced

at each stage. Hence, this costing is also called as “Average Costing” or “Continuous Costing”.

Process Costing is used in the industries like manufacturing industries, chemical industries,

mining works and public utility undertakings.

Characteristics of Process Costing

1. Production is continuous

2. Products pass through two or more distinct processes of completion.

3. Products are standardized and homogeneous.

4. Products are not distinguishable in processing stage.

5. The finished product of one process becomes the raw material of the subsequent process.

6. Cost of material, labour and overheads are collected for each process and charged accordingly.
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Advantages of Process Costing

1. It is easy to compute average cot because the products are homogeneous in Process

Costing.

2. It is possible to ascertain the process costs at short intervals.

3. Process Costing is simple and less expensive in relation o job costing.

4. By evaluating the performance of each process effective managerial control is

possible.

Disadvantages of Process Costing

1. Valuation of work in progress is difficult.

2. It is not easy to value losses, wastes, scraps etc.

3. The apportionment of total cost among joint products and by-products is difficult.

4. Process cost are not accurate, they are only average costs

5. Process costs are only historical.

Principles of Process Costing

The following points are considered while determining the cost under Process Costing.

1. Production activity should be divided into different processes or departments.

2. A separate account is opened for each process.

3. Both direct and indirect costs are collected for each process.

4. The quantity of output and costs are recorded in the respective process accounts.

5. The cost per unit is determined by dividing the total cost at the end of each process by the

number of output of each process.

6. Normal loss and abnormal loss are credited in the process account

7. The accumulated cost of each process is transferred to subsequent process along with

output. The output of the last process along with cost is transferred to the finished goods

account.

8. In case of by-products and joint products their share in joint cost should be estimated and

credited to the min process.

9. When there is work in progress at the end of the period the computation of inventory is

made I terms of complete units.
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Preparation of Process Accounts

The preparation of Process Account depends upon the following situations

1. Simple Process Account

2. Process costing with normal process loss

3. Process costing with abnormal process loss

4. Process costing with abnormal process gains

5. Inter – process profits.

Simple Process Account

Under this case it is very easy to prepare process account. A separate account is opened for

each process. All costs are debited to the process account. The total cost of the process is transferred

to the next process. At the end of each process the cost per unit is obtained by dividing the total cost

by the number of units.

Process losses

The process loss is classified into two- normal process loss and abnormal process loss.

Normal process loss

This is the loss which is unavoidable on account of inherent nature of production process. It

arises under normal conditions. It is usually calculated as a certain percentage of input. Normal

process los includes either waste or scrap r both. Waste is unsalable and has no value. Loss in

weight is an example of waste. Loss in weight should be credited to the concerned process account.

It should be recorded only in terms of quantity.

Loss in weight = Opening Stock + output from the preceding process – (output of the

Concerned process + closing stock)

Illustration 2: From the following figures, show the cost of three processes of manufacture. The

production of each process is passed on to the next process immediately on completion.

Abnormal Process Loss

Any loss caused by unexpected or abnormal conditions such as plant break don, substandard

materials, carelessness, accident etc. or loss in exceeds of the margin anticipated for normal process

loss can be called as abnormal process loss. It is controllable and avoidable. When actual loss in the

process is greater than the estimated normal loss, it is a case of abnormal loss. It may also be

determined by comparing actual output with expected or normal output. If actual output is les than
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the normal output, the difference is abnormal loss.

Value of Abnormal loss = Normal cost of normal output x Units of Abnormal loss

Normal output

Normal cost of normal output = Total expenditure (i.e., total debit of process A/c) – Sale

Proceeds of scrap (i.e. Value of normal loss)

Normal output = Input – Units of normal loss

Abnormal Gain (or Abnormal Effective)

Sometimes actual loss or wastage in a process is less than expected normal loss. In this case

the difference between actual loss and expected loss is known as abnormal gain or abnormal

effective. It is the excess of actual production over normal output.

Abnormal gain is valued in the same manner as abnormal loss. The value of abnormal gain

is debited to process A/c and credited to abnormal gain A/c. the value of scrap is debited to

abnormal gain A/.c and credited to normal loss A/c. finally abnormal loss A/c is closed by

transferring the credit balance to Costing P&L A/c.

Value of Abnormal Gain = Normal cost of normal output x Units of Abnormal gain

Normal output

Normal cost of normal output = Total expenditure– Sale Proceeds of scrap

Normal output = Input – Units of normal loss

Units of Abnormal gain = Normal loss- Actual loss

Or = Actual output - Normal output

Equivalent Production

Equivalent production represents the production of a process in terms of completed units. In

other words, it means converting the incomplete units into its equivalent of completed units. It is

also known as effective production. For calculating equivalent production, work-in-progress needs

to be inspected. Then an estimate is made of the degree of completion, usually on a percentage

basis.

Steps and procedure of computation of Equivalent Production

1. Ascertain Equivalent Production in respect of opening work-in-progress, if any. In this case the
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Equivalent Production is computed by taking into consideration the percentage of work required to

finish now in the process. The following formula is used.

Opening WIP (Units) x % of work needed to complete.

2. Find the units introduced and completed and add this to (1). It is calculated as follows:

Units completed and transferred – Opening work-in-progress.

3. Convert the equivalent production of closing work-in-progress and add to the above. The formula

is:

Closing work-in-progress (units) x% of work completed.

4. Obtain the total Equivalent Production terms of materials, labour and overhead separately (if

degree of completion is different). For this, ‘Statement of Equivalent Production’ is prepared.

5. Find out the net process costs, element wise- materials, labour and overheads.

6. Ascertain the cost per unit of Equivalent Production for each element of cost separately.

Material cost per unit= Material cost

Equivalent Production in respect of materials

Labour cost per unit = Labour cost

Equivalent Production in respect of labour

Overhead cost per unit = Overhead cost

Equivalent Production in respect of overhead

For this purpose ‘Statement of Cost is prepared’

7. Find out the value of opening work-in-progress, finished units and closing work-in-progress. The

formula is:

Equivalent Production in respect of materials x Material cost per unit

Equivalent Production in respect of labour x Labour cost per unit

Equivalent Production in respect of overhead x Overhead cost per unit

Inter Process Profits:

In process costing, the usual practice is to transfer the output of one process to another and finally to

finished stock at cost price. In this method of transfer, process accounts will not reveal any profit or

loss. But sometimes, the transfer is made at transfer price or market price.
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This method is adopted in order to measure the efficiency or inefficiency of individual’s process.

When market price cannot be ascertained, certain percentage of profit margin is added to the cost of

processing in order to arrive at the transfer price. Consequently, each process account reveals a

profit and this profit is known as ‘inter process profit’.

Advantages of Accounting for Inter Process Profits:

(a) Inter process profits enable to measure the efficiency of each process.

(b) Comparison of costs with market price at each stage assist management to take ‘make or buy’

decisions.

(c) The efficiency of or inefficiency of one process. In other words, each process can be assessed

separately on that account.

Adjustment for Inter Process Profits:

When the output of one process is transferred to another and finally to finished stock account at

transfer price (cost plus estimated profit margin), the closing inventories if any will be valued at

transfer price. Such inventories will include unrealized profits. Such profits should be adjusted for

purposes of year-end financial reporting.

Otherwise, it will amount to earning profit by trading within the organization. Hence, necessary

adjustments are made in the values of closing inventories by means of creating reserves or provision

for unrealized profits. Total profit less provision for unrealized profits would amount to profits

earned on sale of finished stock. The closing inventories will be shown in the balance sheet at cost

i.e., values of inventory at transfer price less provision for unrealized profits.

Computation of provision for unrealized profits:

Formula Cost of inventory = cost/total X Closing inventory

Provision for unrealized profits = Value of closing inventory – Cost

Illustration 1:
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A product passes through two processes A and B. Output of A is transferred to B at cost plus 25%

profit and from B to finished stock at cost plus 25% profit. There were no work in progress in both

processes and opening stock of finished goods at the end of the period.

Additional information available is as follows:

Closing stock of finished goods was valued at Rs.45,000 and the balance was sold for Rs. 1,50,000.

Prepare Process Accounts and Finished Stock Account.

Solution:

Process A Account
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JOINT PRODUCTS

When two or more products are produced simultaneously from the use of a single raw material

which is equally important. Such a product can be a joint product which is more important if

produced from the same raw material. This product is also called as Main Product. On the other

hand, if the products are not of the same importance called as "By-Products." For example, crude

oil is the main product which can be processed in to petrol, kerosene, oil tar etc. as by-products.

Features of Joint Products

The following are the important features of joint products:

(1) Joint products are produced from the sample raw materials.

(2) They are produced from the common features of manufacturing process.

(3) Joint products are of equal importance and value.

(4) They may require further processing after their split off or point of separation.

Objectives of Joint Product Costing
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The following are the important objectives of joint product costing:

(1) To facilitate product costing of inventory valuation and income determination.

(2) To ascertain the profitability of each product.

(3) To facilitate to make or buy decisions.

(4) To provide information to fix the prices of product.

(5) To evaluate the change of product mix and output variations.

(6) To determine cost per unit, cost allocation and cost ascertainment.

(7) To ensure effective cost control.

Methods of Apportionment of Joint Products

The following are the important methods commonly used for apportionment of joint costs upto the

point of separation.

(1) Average Unit Cost Method

(2) Physical Unit Method

(3) Survey Method

(4) Contribution Margin Method

(5) Standard Cost Method

(6) Market Value Method

(1) Average Unit Cost Method: Under this method, average cost per unit of the finished product is

calculated by the total joint costs up to the point of separation is divided by the total production of

all the products or outputs. This method is very simple and conveniently applicable where the

resultant products can be expressed in common units.

(2) Physical Unit Method: Under this method, the joint costs are allocated or apportioned to joint

products on the basis of relative physical units of output of each joint product till split-off occurs.

These physical units refer to weight or measure such as pounds, tonnes, gallons, bales, volume etc.

This method is suitable where the joint products will be measurable in the same units. This method

cannot be applied when joint products consist of different types of units like liquids and solids.

(3) Survey Method: Survey Method is also termed as "Points Value Method." In this method, joint

costs are allocated on the basis of percentage or points value is assigned to each products according

to their relative importance. This method is also taken into various relevant factors such as volume,

mixtures, selling price, technical engineering and marketing processes. The ratio of joint costs can
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be calculated by physical quantities of each products use multiplied with the weightage points.

(4) Contribution Margin Method: This method is also called as "Gross Margin Method." According

to this method joint costs are allocated or apportioned as fixed cost and variable cost incurred at the

point of separation. Joint fixed costs are apportioned on the basis of contribution of each product

whereas variable portion of joint costs are apportioned according to the volume of units produced.

(5) Standard Cost Method: Under this method, joint costs are apportioned on the basis of standard

costs. For this, standard costs are determined in advance for a joint products based on past

experience, technical aspects, operational efficiency and cost factors of each products etc.

(6) Market Value Method: This method is also termed as "Relative Sales Value Method."

According to this method, the number of units of each product manufactured is multiplied by the

product's selling price to obtain the sales value of production.

BY -PRODUCTS

The term by-product is also known as "Minor Product." It refers to any product of comparatively

less value that is incidentally manufactured along with the main products. In other words, if the

products produced are not as of equal importance, then the products of significantly low value are

known as "by-products." Accordingly, they are jointly produced with other main products and

remain inseparable up to the point of split off or point of separation.

Accounting Treatment or Method of Valuation of By-products The object of valuation of by-

products cost accounting is to assign a portion of the total costs to each by-products. This is

important to calculate the unit product cost and prepare the profit and loss account and balance

sheet. Following are the important methods employed in this connection :

(1) Non-Cost Methods or Sales Value Methods:

(a) Other Income Method.

(b) Adding Sales Value to Total Cost Method.

(c) Crediting to Sales Value Less Selling and Distribution Expenses Method.

(d) Expenses Cost Method.

(2) Cost Methods:

(a) Replacement Cost Method or Opportunity Cost Method

(b) Standard Cost Method

(c) Apportionment on Suitable Basis
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(1) Non-Cost Method

This method is also known as "Sales Value Method." While in valuation of the by-products only

sales value of by-products is taken in to account in accounting treatment of by-products they use

anyone of the following non-cost methods : (a) Other Income Method: Under this method, when the

sales value of the by-products is very low or negligible, it is treated as other income and same is

credited to the profit and loss account. (b) Adding Sales Value to Total Cost Method: Under this

method all the cost of joint products deducted from the combined sales proceeds of both joint

products and main products. (c) Crediting to Sales Value Loss Selling and Distribution Expenses:

Under this method, costs incurred relating to selling and distribution expenses of by-products are

deducted from the sales value of by-product and the net sales value credited to the process account.

(d) Reverse Cost Method: In this method. cost of by-product is determined by sales of the by-

product deducted from the estimated profit and all costs incurred on by-products after split off

point. This method also known as "crediting sales value less profit."

(2) Cost Methods

Cost methods are useful to determine the cost of by-products when the apportion of the portion of

joint costs incurred to by-products. The following are the important methods included under this

categories. (a) Replacement Cost Method: This method is also called as "Opportunity Cost

Method."
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POSSIBLE QUESTIONS

Part - B

11. The following was the expenditure on a contract for Rs. 12,00,000 commenced in

January. Rs.

Materials 2,40,000

Wages 3,28,000

Plant 40,000

Overheads 17,200

Cash received on account of the contract upto 31st December was Rs. 4,80,000 being

80% of the work certified. The value of materials in hand was Rs. 20,000. The plant had

undergone 20% depreciation.

Prepare contract Account.

12. Explain Normal Loss, Abnormal loss and abnormal gain and state how they should be dealt

with in process cost accounts.

13. A product passes through two distinct processes, A and B, and thereafter to finished stock.

From the following information, you are required to prepare Process Cost Accounts.

Process A Process B

Materials consumed (Rs.) 12,000 6,000

Direct labour (Rs.) 14,000 8,000

Manufacturing expenses (Rs.) 4,000 4,000

Input in Process ‘A’ (Units) 10,000 _

Input in Process ‘A’ (Value) Rs. 10,000 _

Output 9,400 Units 8,300 Units

Normal wastage 5% 10%

Value of normal wastage

(per 100 units) Rs.8 Rs.10

14. Input 3,800 units; output 3,000 units; closing work in progress 800 units.

Degree of completion Process Costs

Materials 80% Rs. 7,280
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Labour 70% Rs. 7,120

Overheads 70% Rs. 7,120

Find out (a) Equivalent production (b) Cost per unit of equivalent production and (c)

Prepare the process A account assuming that there is no opening work in progress and

process loss.
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PART – A (20X 1 = 20 Marks)
Choose the Correct Answer

1. Costing is a technique of  ________________

(a) Ascertainment of cost (b) Analysing of cost

(c) Utilization of cost (d) Cost reduction

2. Cost accounting provide data for managerial________________

(a) Planning (b) Organizing(c) Decision making

(d) Decision Making and cost controlling

3. Cost accounting has become an essential tool of _________

(a) Accounts (b) Management (c) Purchase (d) Sales

4. Cost accounting has been developed because of ___________ of financial accounting

(a)Advantages (b) Limitations (c) Importance (d) Cost

5. _________ is the process and techniques of ascertaining costs.

(a)Management accounting (b) Financial accounting

(c) Cost accounting (d) Budgeting

6. Direct Costs are known as

(a)Work Cost (b) Prime Cost (c) Cost of Production (d) Cost of Sales

7. Cost accounting involves _______________ of cost data to the management

(a) Summarising (b) Analysing (c) Reporting (d) Recording

8. A cost centre in which ______________ is carried on as production cost centre

(a) Service (b)  sales (c) production (d) marketing

9. __________varies with the volume of output

(a) fixed (b) variable (c) semi-variable (d) average

10. _________________cost is one of the most important elements of the cost of production

(a)Labour (b) material (c) Selling Overhead (d) Administrative Overhead



11. Inventory means

(a) Stock (b) Material (c) Stores (d) Sales

12. __________remains fixed irrespective of the level of output

(a) Fixed (b) variable (c) semi-variable (d) partly fixed

13. EOQ =

(a) √AO/C (b) √AC/O (c) √2AO/C (d) √2CA/C

14. BIN card is maintained by

(a) Storekeeper (b) Accountant (c) Auditor (d) Supervisor

15. _________level below which stock level should not be allowed to fall at any time

(a) Minimum (b) Maximum (c) Re- Order level (d)Average

16. There are certain industries where the _____________ passes through the different stages

of a product

(a) Goods (b) Product (c) Raw material (d) Sales

17. Stores ledger is kept in the __________ department

(a) Production (b) sales (c) stores (d) costing

18. ABC analysis stands for ______________

(a) Always best control (b) Always Better Control

(c) Automated Better Control (d) Adjusted best control

19. EOQ is related to____________

(a) Fixed cost (b) Ordering and carrying cost

(c)Variable cost (d) Total cost

20. Management accounting and cost accounting are ______________

(a) Supplementary to each other (b) Complementary to each other

(c) Independent to each other (d) Opposite to each other

PART B (3x10=30 Marks)

Answer All the Questions

21. a) Explain about:

i) Cost ii) Costing iii) Cost Accounting iv) Cost Units v) Cost Centre

(Or)

b) Briefly explain various methods of costing.

22. a) The following data relate to the manufacture of a product during the month of January

2016.

Raw materials consumed Rs. 80,000

Direct Wages Rs. 48,000



Machine Hours worked 8,000

Machine hour rate Rs.4

Office Overhead 10% of work cost

Selling overhead Rs.1.50 per unit

Units produced 4,000

Units sold 3,600 at Rs.50 each

Prepare a cost sheet and show (a) cost per unit and (b) profit for the period.

(Or)

b) Draw a statement of Cost from the following particulars:

Opening Stock: i) Materials 2,00,000

ii) Work-in-progress 60,000

iii) Finished Goods 5,000

Closing Stock: i) Materials 1,80,000

ii) Work-in-progress 50,000

iii) Finished Goods 15,000

Materials purchased 5,00,000

Direct wages 1,50,000

Manufacturing expenses 1,00,000

Sales 8,00,000

Selling and distribution expenses 20,000

23. a) Two materials, X and Y, are used as follows:

Minimum usage : 50 units per week each

Maximum usage : 150 units per week each

Normal usage : 100 units per week each

Ordering quantities: X – 600 units, and Y – 1,000 units

Delivery period: X – 4 to 6 weeks, Y- 2 to 4 weeks.

Calculate for each material (a) Minimum Level (b) Maximum level (c) Ordering level

(Or)

b) Calculate the Economic Order Quantity from the following information. Also state the

number of orders to be placed in a year.

Consumption of materials per annum 10,000 kg.

Order placing costs per order Rs. 50

Cost per kg. of raw materials Rs. 2

Storage costs 8% on average in inventory.
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PART – A (20X 1 = 20 Marks)
Choose the Correct Answer

1. Wage sheets is prepared by ______________

(a) Production (b) Purchase (c) Sales (d) Pay roll

2. In Taylor’s differential piece rate system ____________ piece rates are set for each job.

(a) Two (b) Three (c) Four (d) Five

3. What is considered under Gantt task and bonus scheme?

(a) Time (b) Piece rate (c) Bonus (d) Piece rate + Bonus

4. Overhead means____________

(a) Indirect expenses (b) Direct expenses

(c) Work expenses (d) Factory expenses

5. ___________ incurred for running the office

(a) Administration overhead (b) Factory overhead

(c) selling overhead (d) distribution overhead

6. _____________ cost are variable cost which can be controlled

(a) Normal (b)  Abnormal (c) Controllable (d) Un controllable

7. State the bases for apportionment of depreciation of plant and machinery

(a) Light points (b)  value of plant

(c) value of stock (d) value of materials

8. ___________ incurred for actual sales and promotion of sales

(a) Administration overhead (b) factory overhead

(c) Selling overhead (d) distribution overhead

9. ____________ department are those departments which enable other department to work.

(a) Service (b) Production (c) Sales (d) Purchase



10. State the bases for apportionment of indirect materials

(a) Direct Materials (b) value of plant

(c) value of stock (d) value of materials

11. Fixed cost per unit increases when ---------------

(a) Production volume decreases (b) Production volume increases

(c) Variable cost per unit decreases (d) Sales Increases

12. _________ is the sales overhead

(a) Office salaries (b) Advertisement expenses

(c) Factory rent (d) Indirect material

13. _________means below which stock level should not be allowed to fall at any time.

(a) Minimum Level (b) Maximum Level

(c) Re- Order level (d) Average Level

14. ____________ labours which is not directly engaged in production of goods or services

(a) Direct (b)  Indirect (c) semi- skilled (d) Skilled

15. ___________ incurred for packing and delivery of goods to customers

(a) administration overhead (b) factory overhead

(c) selling overhead (d) Distribution overhead

16. ____________ rate is the cost of running a machine per hour

(a) Labour per hour (b)  Machine Hour

(c) wage hour (d) indirect labour hour

17. The stores department is a _____________

(a) Service department (b) Production department

(c) Sales (d) Advertisement

18. __________ expenses that are not directly charged to production

(a) Indirect (b)  Direct (c) overhead (d) selling

19. ___________ do not vary with the volume of products

(a) Fixed overhead (b)  variable overhead

(c) selling overhead (d) semi variable overhead

20. State the bases of apportionment for rent

(a) Floor area (b) value of plant

(c) value of stock (d) value of materials



PART B (3x10=30 Marks)

Answer All the Questions

21. a) What do you understand by “Integrated Accounts”? State the advantages of “Integrated

Accounts”.

(Or)

b) Amit Company has five departments; P, N, R, S are producing departments and T is a

Service department. The actual costs for a period are as follows:

Rs.

Repairs 2,000

Rent 2,500

Depreciation 1,200

Supervision 4,000

Insurance 1,500

Employer’s liability of employee’s

Insurance 600

Light 1,800

The following data are also available in respect of the five departments:

Dept. P Dept. N Dept. R Dept. S Dept. T

Area Sq. ft 140 120 110 90 40

No. of workers 25 20 10 10 5

Total wages (Rs.) 10,000 8,000 5,000 5,000 2,000

Value of plant (Rs.) 20,000 18,000 16,000 10,000 6,000

Value of Stock (Rs.) 15,000 10,000 5,000 2,000 -

Apportion the costs to the various departments on the equitable basis.

22. a)  A company is producing 3 types of products A, B and C. The sales territory of the

company is divided into 3 areas X,Y and Z.

The estimated sales of the year 2017 are as under:

Product Territory

X (Rs.) Y (Rs.) Z (Rs.)

A 50,000 20,000 _

B 30,000 _ 80,000

C _ 70,000 40,000

The budgeted advertising cost is as under:



Territory

X (Rs.) Y (Rs.) Z (Rs.) Total

Local cost 3,200 4,500 4,200 11,900

General cost - - - 5,800

You are required to find the advertising cost percent on sales for each product and territory

showing how you will present the statement to the management.

(Or)

b)  Journalise the following transactions assuming cost and financial accounts are integrated.

Rs.

Raw materials purchased on credit 20,000

Direct materials issued to production 15,000

Wages paid (30% indirect) 12,000

Wages charged to production 9,500

Manufacturing expenses paid 8,400

Selling & distribution expenses 2,000

Finished product (at cost) 20,000

Receipts from Debtors 6,900

23. a). Standard time allotted for a job is 20 hours and the rate per hour is Rs.2 plus a

dearness allowance @50 paise per hour worked.

The actual time taken by a worker is 15 hours. Calculate the earnings under (i) Time system,

(ii) Piece wage system, (iii) Halsey plan, (iv) Rowan Scheme.

(Or)

b) From the following particulars supplied by the personal department of a company,

calculate labour turnover:

Total number of employees at the beginning of the month 2010

Number of employees who are recruited during the month 30

Number of employees who left during the month 50

Total number of employees at the end of the month 1990
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PART – A (20x1 = 20 Marks)
Choose the Correct Answer

1. Cost accounting has become an essential tool of _________
(a) Accounts (b) Management (c) Purchase (d) Sales

2. Cost accounting is a separate ____________of accounting.

(a) No branch (b) Branch (c) Batch (d) No Batch

3. __________remains fixed irrespective of the level of output
(a) Fixed (b) variable (c) semi-variable (d) partly fixed

4. ABC analysis stands for ____________
(a) Always best control (b) Always Better Control
(c) Automated Better Control (d) Adjusted best control

5. Fixed cost per unit increases when _______________
(a) Production volume decreases (b) Production volume increases
(c) Variable cost per unit decreases (d) Sales Increases

6. Cost of production =

(a) Work cost + factory cost (b) Work cost + prime cost

(c) Work cost x prime cost (d) Work cost + administrative overhead

7. _________means below which stock level  should not be allowed to fall at any time

(a) Minimum Level (b) Maximum Level (c) Re- Order level (d) Average Level
8. The stock register shall show the ______________

(a) Receipt of materials (b) Issue of materials
(c) The balance of materials (d) Receipt, Issue and Balance of material

9. ____________ labours which is not directly engaged in production of goods or services
(a) Direct (b) Indirect (c) semi- skilled (d) Skilled

10. ___________ incurred for packing and delivery of goods to customers
(a) administration overhead (b) factory overhead
(c) selling overhead (d) Distribution overhead

11. ____________ rate is the cost of running a machine per hour
(a) Labour per hour (b) Machine Hour (c) wage hour (d) indirect labour hour



12. State the bases for apportionment of indirect wages
(a) Direct Materials (b) Direct wages
(c) value of stock (d) value of materials

13. ____________ method of costing adopted in printing press
(a) Process costing (b) Job costing (c) Unit costing (d) Contract costing

14. ________________ is an example of operating charge

(a) Petrol/ diesel (b) Annual tax (c) Insurance (d) Rent

15. ___________is an example for transport services
(a) Railways (b) Gas supply (c) Water supply (d) Hospitals

16. In_________ costing the production is always against the customer order
(a) Process costing (b) Job costing
(c) Unit costing (d) Contract costing

17. Process costing is used to find out ____________ of the product at the end of each stage
(a) Cost (b) Expenses (c) Unit costing (d) Income

18. Abnormal loss arises when the actual loss is more than the ___________ losses
(a) Abnormal Loss (b) Normal Loss
(c) Avoidable Loss (d) Expected Loss

19. _____________ costing is mainly adopted in construction of bridges
(a) Process costing (b) Job costing
(c) Unit costing (d) Contract costing

20. ______________ expenses are incurred for selling the by products
(a) Selling and distribution (b) Production
(c) purchase (d) Raw material expenses

PART B (5x8=40)
Answer All the Questions

21. a) Describe briefly the different methods of Costing.
(Or)

b) Draw a statement of cost from the following particulars:
Rs.

Opening stock: 1. Materials 2,00,000
2. Work-in Progress 60,000
3. Finished goods 5,000

Closing stock: 1. Materials 1,80,000
2. Work-in Progress 50,000
3. Finished goods 15,000

Materials purchased 5,00,000
Direct wages 1,50,000
Manufacturing expenses 1,00,000
Sales 8,00,000
Selling and distribution expenses 20,000

22. a) From the following particulars calculate:
a) Re-order level b) Minimum level and c) Maximum level
Normal usage 100 units per day



Minimum usage 60 units per day
Maximum usage 130 units per day
Economic order quantity 5000 units
Re-order period 25 to 30 days

(Or)
b) From the following particulars supplied by the personal department of a company,

calculate labour turnover:
Total number of employees at the beginning of the month 2010
Number of employees who are recruited during the month 30
Number of employees who left during the month 50
Total number of employees at the end of the month 1990

23. a) How would you apportion the following expenses between departments A and B?
Rs. Rs.

Rent and Rates 360 Insurance 130
Stores expenses 742 Fire insurance 260
General factory labour 1,284 Depreciation 906
Holiday pay 520 Plant repairs 450
Information regarding the departments available:

A B
Floor space 60 x 115 45 x 100
No. of employees 18 42
Annual direct wages Rs. 5,000 Rs. 6,000
Annual direct labour hours 36,000 92,500
Plant value Rs. 10,000 Rs. 2,500

(Or)

b) In a factory, there are two service departments S1 and S2 and three production departments
P1,P2 ad P3. In April 2010, the departmental expenses were:

Departments :P1 P2 P3 S1 S2

Rs. :6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

The service department expenses are allocated on a percentage basis as follows:

Service Departments Production Departments Service Departments

P1 P2 P3 S1 S2

S1 30% 40% 15% - 15%

S2 40% 30% 25% 5% -

Prepare a statement showing the distribution of two service departments’ expenses to
these departments by Simultaneous Equation Method.



24. a) Global transports  owns Buses and the following information is available from the
records maintain by them:

Number of Buses 5
Cost of each Bus Rs. 2,50,000
Driver’s salary Rs. 10,000 p.m per bus
Salary of manager Rs. 7000 p.m
Salary of accountant Rs. 5000 p.m
Salary of cleaner Rs. 2000 p.m
Salary of mechanics Rs. 4000 p.m
Insurance premium 8% p.a
Annual tax Rs. 9000 per bus
Annual repairs Rs. 10000 per bus

Total life of a bus is about 2,00,000 kms. A bus runs, in all 3,000 kms in a month and 30% of
this distance has to be run without any passenger. Petrol consumption is one litre for every 5
kms. @ Rs. 45 per litre. Oil and other sundries are Rs. 22 per 100 kms.
Calculate the cost of running a bus per km.

(Or)
b) Write short notes on a) Retention Money b) Escalation claim c) Work-in-Progress d) Cost
plus contracts
25. a) A product passes through two distinct processes, A and B, and thereafter to finished
stock. From the following information, you are required to prepare Process Cost Accounts.

Process A Process B
Materials consumed (Rs.) 12,000 6,000
Direct labour (Rs.) 14,000 8,000
Manufacturing expenses (Rs.) 4,000 4,000
Input in Process ‘A’ (Units) 10,000 _
Input in Process ‘A’ (Value) Rs. 10,000 _
Output 9,400 Units 8,300 Units
Normal wastage 5% 10%
Value of normal wastage
(per 100 units) Rs.8 Rs.10

(Or)

b) Input 3,800 units; output 3,000 units; closing work in progress 800 units.

Degree of completion Process Costs

Materials 80% Rs. 7,280

Labour 70% Rs. 7,120

Overheads 70% Rs. 7,120

Find out (a) Equivalent production (b) Cost per unit of equivalent production and (c) Prepare
the process A account assuming that there is no opening work in progress and process loss.



























First Internal Examination Answer key for
Applied Cost Accounting

PART – A
Choose the Correct Answer

1. (a) Ascertainment of cost

2. (d) Decision Making and cost controlling

3. (a) Accounts

4. (b) Limitations

5. (c) Cost accounting

6. (b) Prime Cost

7. (c) Reporting

8. (c) production

9. (b) variable

10. (b) material

11. (a) Stock

12. (a) Fixed

13. (c) √2AO/C

14. (a) Storekeeper

15. (a) Minimum

16. (c) Raw material

17. (d) costing

18. (b) Always Better Control

19. (b) Ordering and carrying cost

20. (b) Complementary to each other

PART B

Answer All the Questions

21. a)

i) Cost: Information regarding cost of each product or service would enable the management

to know where to economize on costs, how to fix prices, how to maximize profits and so on.

ii) Costing: The costing terminology of C.I.M.A ., London defines costing as the “the

techniques and processes of ascertaining costs”.

iii) Cost Accounting: Cost Accounting may be regarded as “a specialized branch of

accounting which involves classification, accumulation, assignment and control of costs.”

iv) Cost Units: The Chartered Institute of Management Accountants, London, defines a unit



of cost as “a unit of quantity of product, service or time in relation to which costs may be

ascertained or expressed”. The forms of measurement used as cost units are usually the units

of physical measurements like number, weight, area, length, value, time etc.

Following are some examples of cost unit.

v) Cost Centre: According to Chartered Institute of Management Accountants, London, cost

centre means “a location, person or item of equipment (or group of these) for which costs

may be ascertained and used for the purpose of cost control”.

(Or)

b) Methods of costing.

1. Job costing: It includes the following costing,
a. Contract Costing
b. Bach Costing
c. Terminal Costing
d. Operation Costing

2. Process Costing
3. Unit or single or output or single output costing
4. Operating Costing
5. Multiple or Complete Costing
6. Uniform Costing
7. Departmental Costing
8. Standard or Predetermined Costs.
9. Marginal Costs

22. a) Cost Sheet:

Total Cost (Rs.) Cost per Unit (Rs.)

Prime cost 1,28,000 32

Works cost 1,60,000 40

Cost of production 1,76,000 44

Statement of Profit (3,600 units)

Cost of production (3600 x 44) 1,58,400 44

Cost of Goods sold 1,63,800 45.50

Profit 16,200 4.50

Sales 1,80,000 50

(Or)

b)

Statement of Cost

Prime Cost 6,70,000

Cost of Production 7,80,000



Total cost 7,90,000

Net Profit 10,000

Sales 8,00,000

23. a) Material X (Units) Material Y (Units)

Minimum level 400 300

Maximum level 1300 1500

Ordering level 900 600

(Or)

b) Economic ordering quantity 2,500 Kgs

No. of orders placed in a year 4 order per year



Answer key for Second Internal Examination
Applied Cost Accounting

PART – A (20X 1 = 20 Marks)
Choose the Correct Answer

1. (d) Pay roll

2. (a) Two

3. (d) Piece  rate + Bonus

4. (a) Indirect expenses

5. (a) Administration overhead

6. (c) Controllable

7. (b)  value of plant

8. (c) Selling overhead

9. (a) Service

10. (a) Direct Materials

11. (a) Production volume decreases

12. (b) Advertisement expenses

13. (a) Minimum Level

14. (b)  Indirect

15. (d) Distribution overhead

16. (b)  Machine Hour

17. (a) Service department

18 (d) selling

19. (a) Fixed overhead

20. (a) Floor area

PART B

Answer All the Questions

21. a) An Integrated Accounting System would be one where only a single set of books

would contain all the information of Financial Accounting as well as Inventory/ Cost

Accounting. Such a system would be very difficult to maintain if accounts are maintained

manually. But most available Computerized Accounting Systems are Integrated Systems.

Here we take the example of an Integrated Accounting System (our own product by the

name: “Soft Accounting System”) and explain how it’s functionality differs with Non-

Integrated manual Accounting system



(Or)

b) Total cost of all departments 13,600

Production Department:

P 4,451

Q 3,626

R 2,582

S 1,997

Service Department

T 944

22. a) Apportionment of Advertising cost

Territory

X Y Z Total

Local cost 3200 4500 4200 11900

General 1600 1800 2400 5800

The advertising cost of each territory is apportioned among the products

Product

A B C Total

Territory X 3000 1800 - 4800

Territory Y 1400 - 4900 6300

Territory Z - 4400 2200 6600

(Or)

b)  Journalise the following transactions assuming cost and financial accounts are integrated.

Rs.

i. Stores ledger a/c Dr 20000

To sundry creditors 20000

ii. Work in progress control a/c Dr 15000

To Stores ledger control a/c 15000

iii. Wages control a/c Dr 8400

Factory overhead control a/c Dr 3600

To bank a/c 12000

iv. Work in progress control a/c Dr 9500

To Factory overhead control a/c 6650

To Wages control a/c 2850



v. Factory overhead control a/c Dr 8400

To Bank a/c 8400

23. a). Total earnings under

(i) Time wages system – Rs. 37.50

(ii) Piece wage system – Rs. 47.50

(iii) Halsey plan – Rs. 42.50

(iv) Rowan Scheme – Rs. 45

(Or)

b) Labour turnover under

a) Separation method – 2.5 %

b) Replacement method – 1.5 %

c) Flux method – 4%



Answer key for Model Examination

Applied Cost Accounting

PART – A

Choose the Correct Answer

1. (a) Accounts

2. (b) Branch

3. (a) Fixed

4. (b) Always Better Control

5. (a) Production volume decreases

6. (d) Work cost + administrative overhead

7. (a) Minimum Level

8. (d) Receipt, Issue and Balance of material

9. (b) Indirect

10. (d) Distribution overhead

11. (b) Machine Hour

12. (b) Direct wages

13. (b) Job costing

14. (a) Petrol/ diesel

15. (a) Railways

16. (b) Job costing

17. (a) Cost

18. (d) Expected Loss

19. (d) Contract costing

20. (a) Selling and distribution

PART B

Answer All the Questions

21. a) Different methods of Costing.

1. Job costing: It includes the following costing,

a. Contract Costing

b. Bach Costing

c. Terminal Costing

d. Operation Costing

2. Process Costing



3. Unit or single or output or single output costing

4. Operating Costing

5. Multiple or Complete Costing

6. Uniform Costing

7. Departmental Costing

8. Standard or Predetermined Costs.

9. Marginal Costs

(Or)

b) Statement of Cost

Prime Cost 6,70,000

Cost of Production 7,80,000

Total cost 7,90,000

Net Profit 10,000

Sales 8,00,000

22. a)

a) Re-order level – 3900 units

b) Minimum level – 1150 units

c) Maximum level – 7400 units

(Or)

b) Labour turnover under

a) Separation method – 2.5 %

b) Replacement method – 1.5 %

c) Flux method – 4%

23. a) Statement of overhead apportionment

Expenses Basis Departments Total

A B

Rent & Rates Floor Area 218 142 360

Insurance Plant value 104 26 130

Stores expenses Labour hours 208 534 742

Fire insurance Plant value 208 52 260

General factory

labour

Labour hours 359 925 1284

Depreciation Plant value 725 181 906



Holiday Pay Direct wages 236 284 520

Plant repairs Plant value 360 90 450

Total 2418 2234 4652

(Or)

b) Apportionment of Overhead

Production Departments Service Departments.

A B C P Q

Departmental Expenses

Apportioned of P Dept.

Apportioned of Q Dept.

6,50,000

37,783

47,557

6,00,000

50,378

35,667

5,00,000

18,892

29,723

1,20,000

-1,25,945

5,975

1,00,000

18,982

-1,18,892

7,35,340 6,86,045 5,48,615 - -

24. a) Cost of running a bus per km is 0.50

(Or)

b) Retention money: - Regardless of the amount of work certified, the contractor is paid a

specified percentage of the same and the balance is held or retained by the contractee. This

is because of the fact that the contractee has to safe guard himself against any contingency

arising from the non fulfilment of the terms of the contract by the contractor. The unpaid

balance of work certified or the amount held back or retained by the contractee is known

as ‘retention money’.

Escalation clause: This is clause which is provided in the contract to cover up any

increase in the price of the contract due to increase in the prices of raw material or labour

or in the utilization of any other factors of production. If material and labour utilization

exceeds a particular limit, the customer agrees to bear the additional cost occasioned by

excessive utilization. Here, the contractor has to satisfy the customer that excessive

utilization is not the result of decreased efficiency.

Work in Progress: It is the unfinished contract at the end of the accounting period and it

includes amount of work certified and amount of work uncertified. Work in progress is an

asset, shown in the balance sheet by deducting there from any advance received from the



contractee.

25. a) Process A A/c

Abnormal wastage 100 units amounted to Rs. 421.

Transfer to Process B A/c 9,400 units @ Rs. 4.206 amounted to Rs. 39,539.

Process B A/c

Abnormal wastage 160 units amounted to Rs. 1,087.

Transfer to Finished stock A/c 8,300 units @ Rs. 6.80 amounted to Rs. 56,358.

(Or)

b) Statement of Equivalent Production

Completed work

in progress

Total Units Equivalent units

3,000

800

3800

Materials (Rs.)

3,000

640

Labour (Rs.)

3,000

560

Overhead (Rs.)

3,000

560

3640 3560 3560



Question Option - I Option - II Option - III Option - IV Answer

Costing is a technique of  

________________

Ascertainment of 

cost      

analyzing of cost utilization of cost cost reduction Ascertainment of cost      

Cost accounting provide data for 

managerial________________

Planning Organizing Decision making  Decision Making and  

cost controlling 

Decision Making and  

cost controlling Cost accounting is a separate 

____________of accounting.

No branch Branch  Batch No Batch Branch  

Cost accounting serves the 

information needs of ____________

Management Financial Marketing Owners Management 

Cost accounting has been developed 

because of ___________ of financial 

accounting

Advantages Limitations Importance Cost Limitations

Management accounting is concerned  

with accounting information that  is 

useful to ----- 

Financial Cost Management Auditing Management

_________accounting deals with 

monetary as well as non-monetary 

information

Cost  Financial Management Auditing Management

Historical costing is also known as 

__________

Uniform costing Standard costing  Traditional 

costing

Job costing Traditional costing

_______ is a technique / process of 

ascertaining cost

Costing Cost Cost accounting Management 

accounting

Costing 

________ is ascertainment of cost 

after they have been incurred.

Marginal costing Historical costing Direct costing Indirect costing Historical costing

________ is used of same costing 

principle or practices by several 

undertaking for common control or 

Uniform costing Marginal costing Standard costing Job Costing Uniform costing 

 __________ methods has been 

dropped from the latest CIMA 

terminology

Multiple costing Farm costing Operating 

costing

Job Costing Farm costing 

Cost accounting can be used only by 

________ concerns

Big Small Big and Small Trading Big and Small

Many theories can be proved or 

disproved in the light of  basic 

principles of _________ 

Cost accounting Management accounting Financial 

accounting.

Financial 

management

Financial accounting.

________ cost are those costs 

incurred to maintain the earning 

Capital Revenue Direct Indirect Capital 

The chief objective of management 

accounting is to serve ---------

Public Employees   Management  Government Management  

The term management accounting 

was first coined by the British team of 

USA  China  India Japan USA  

Management accounting involves------

---

Recording of 

costs 

Recording of transaction Preparation of 

accounts

Analysis and 

interpretation of data

Analysis and 

interpretation of data

Management accounting is also 

known as ----

Cost accounting Financial accounting Corporate 

accounting

Decision accounting. Decision accounting.

Management accounting functions are 

------

Complementary 

in nature 

Contradictory in nature Neutral effect Opposite effect Complementary in 

nature 

Management accounting provides 

valuable services to management in   

performing. ------

Planning 

functions 

Controlling functions Co-ordinating 

functions

All managerial 

functions.

All managerial 

functions.

Management accounting is ---------- An extension of 

financial 

accounting.

An extension of cost 

accounting.

An extension of 

auditing

An extension of cost 

accounting and 

Management 

accounting

An extension of cost 

accounting and 

Management 

accounting

Management accounting is concerned 

with formulation of _______ to meet 

Plans Cost Purchase Sales Plans 

Installation of management 

accounting is -------purely.

Compulsory   Optional     Optimum Fixed Optional     

The term of appointment of financial 

controller may be fixed by the ----------

--

Board of 

Directors  

Articles of association Memorandum of 

Association

Chairman Board of Directors and 

Articles of Association

Financial accounting deals with --------

---

Determination of 

costs

Determination of profits Determination of 

prices

Determination of 

production

Determination of 

profits

The term management accounting 

was first used in the year  -------------

1910 1939 1950 1970 1950

Preparation of financial accounts is 

compulsory for -------------

Sole trader 

business

Partnership firm Joint stock 

companies

Co-operative socities Joint stock companies

______is the oldest branch of 

accounting.

Management 

accounting  

Cost accounting Financial 

accounting

Corporate 

accounting.

Financial accounting

Management accounting also 

comprises the preparation of financial 

reports for non-management groups 

such as -----------

Shareholders Creditors Tax authorities Tax authorities, 

Shareholders and 

Creditors

Tax authorities, 

Shareholders and 

Creditors

Management accounting and cost 

accounting are ----------------

Supplementary 

to each other

Complementary to each 

other

Independent to 

each other

Opposite to each 

other

Complementary to 

each other

____ is also known as Management 

oriented accounting.

Management 

accounting

Cost accounting Financial 

accounting

Corporate accounting Management 

accounting

_____is concerned with accounting 

information which is useful to 

management in maximizing profits or 

minimizing losses.

Management 

accounting

Cost accounting Financial 

accounting

Corporate accounting Management 

accounting

______ is the general accounting 

which relates to the recording of 

business transactions in the books of 

business transactions in the books of 

Financial 

accounting

Cost accounting Management 

accounting

Budgeting. Financial accounting



 _____is the process and techniques 

of ascertaining costs.

Management 

accounting

Financial accounting Cost accounting Budgeting Cost accounting

---------------- is important part of 

management accounting 

Budgeting Fixing standards Inventory control Interpretation of data Interpretation of data

The primary objective of----------------

- is to enable the management to 

maximize or minimize losses

Cost accounting Financial accounting Management 

accounting 

Auditing Management 

accounting 

The main objective of management 

accounting is to present------------------

Cost   Financial Auditing Sales Financial 

Management accounting makes-------- 

process more modern and scientific 

by providing significant information 

Forecasting Planning Decision making Budgeting Decision making 

Management accounting is a useful 

advice of managerial --------------------

Planning Control   Motivation Forecasting Control   

Return on capital employed is one of 

the tools of -------------

Financial 

accounting 

Cost accounting Corporate 

accounting 

Management 

accounting  

Management 

accounting  

_____ of data are considered as back 

bone of management accounting

Modification of 

data

Analysis and interpretation Communication Co-ordination Analysis and 

interpretation

Management accounting is an 

important medium of ______

Motivation Co-ordination Communication Delegation Communication

 _____ supplies analytical information 

regarding various alternatives and the 

choice of management is made easy.

Financial 

accounting

Management accounting Cost accounting Corporate accounting Management 

accounting

____ is the essence of managerial

activity

Co-ordination Control Motivation Decision making Co-ordination

Incremental cost is a type of ------------

---

Differential cost Out-of-pocket cost Conversion cost Factory Differential cost

Fixed cost per unit increases when ----

-----------

Production 

volume 

decreases

Production volume 

increases

Variable cost per 

unit decreases

Sales Increases Production volume 

decreases

Opportunity cost helps in ------------ Ascertainment of 

cost

Controlling cost Making 

managerial 

decisions

Sales Decisions Making managerial 

decisions

Closing stock are valued at cost price 

or market price whichever is less in ---

--

Financial 

accounting

Cost accounting Management 

accounting

Corporate 

Accounting

Financial accounting

Direct material+ Direct labour+ 

Direct expenses = 

Fixed cost Prime cost Factory cost Total cost Prime cost

Salary of general manager is 

generally treated as --------

Factory overhead Administrative overhead Selling overhead  Distribution 

overhead

Administrative 

overhead

_______of any product comprises of 

all direct cost

Work cost Prime cost Total cost Factory  Cost Prime cost 

________means and represents the 

factory cost plus administrative 

expenses

Prime cost Work cost Cost of 

production

Cost of sales Cost of production

Indirect material  + indirect labour 

+__________ = overhead

Indirect expenses Direct labour  Direct expenses Factory overhead Indirect expenses

,_________ is the sales overhead Office salaries Advertisement expenses Factory rent Indirect material Advertisement 

expenses

Prime cost = Direct 

material+direct 

labour+direct 

Direct material+labour 

direct expenses

Inmaterials 

+direct expenses

Inmaterials +Indirect 

expenses

Direct material+direct 

labour+direct 

expensesWorks cost = Prime 

cost+factory cost

Prime cost+Selling 

overhead

Prime 

cost+administrati

ve overhead

Prime cost+ Selling 

overhead

Prime cost+factory 

cost

Cost of production = Work cost + 

factory cost

Work cost + prime cost Work cost x 

prime cost

Work cost + 

administrative 

Work cost + 

administrative Which of the following is equal to 

total cost?

Cost of 

production+Selli

ng and 

distribution 

Cost of sales+ distribution 

overhead

Cost of 

production + 

administrative 

overhead

None of these Cost of 

production+Selling 

and distribution 

expensesThe work cost is also known as 

_____________

Factory cost Prime Cost cost of 

production

cost of sales Factory cost



Question Option - I Option - II Option - III Option - IV Answer

Quantitative perpetual inventory means ------- Bin card Stores ledger Continuous stock taking JIT Stores ledger 

EOQ is related to---------- Fixed cost Ordering and carrying 

cost

Variable cost  Total cost Ordering and carrying cost

Bin card is the record of -------- Receipt, issue and 

balance of material stock 

without the value

Receipt, issue and 

balance of material with 

value

Fixed assets Current  assets Receipt, issue and balance 

of material with value

ABC analysis stands for --------------- Always best control Always Better Control Automated Better Control Adjusted best control Always Better Control

Inventory means ------------- Stock Material Stores Sales Stock 

BIN card is maintained by ------------ Storekeeper Accountant Auditor Supervisor Store keeper 

EOQ = √AO/C √AC/O    √2CO/I       √2CA/C √2CO/I       

_________means below which stock level

should not be allowed to fall at any time 

Minimum Level Maximum Level Re- Order level    Average Level Minimum Level

Market price method is also called as----------

------- method

Standard price Method Replcement method Average Method Base stock Method Base stock Method 

_________scarp arise due to bad 

workmanship

legimate scrap Administrative scarp Defective Scarp Average Stock legimate scrap 

_________spoilage is uncontrollable or 

unavoidable

Normal Abnormal Defective Average Normal 

________card is attached to each bin rack Material control material transfer note BIN card Stores ledger BIN Card

_________________document which

records transfer of surplus from one job to

another

Material control material transfer note BIN card Stores ledger material transfer note 

__________ensures effective utilisation of 

material

control usage material control wastage material control

__________avoids over investment in 

inventories 

control usage material control wastage material control

__________ensures  upto date maintance of 

stock records

control usage material control wastege material control

__________taking is an essential future of 

the prepetual inventory system

bin card stores ledger continuous stock taking Material transfer note continuous stock taking 

Storce ledger is  kept in the ----------- 

department

production sales stores costing costing

Under -------- method a standard or fixed 

price is used for pricing issues

actual fixed standard costing actual

Scrap refers to ----------- damage wastage reused valueless damage

_________refers to a units of output which 

failed to reach the require standard of quality 

or specification

scrap spoilage wastage damage spoilage 

_________is the portion of raw material lost 

in processing having  no recovery value

scrap spoilage wastage damage spoilage 

______________gives the complete list of 

materials required for a particular job or 

work order

job costing process costing unit costing contract costing job costing

________________is attached to each bin to 

show the position of stock in the bin

bin card stores ledger bill of material stock transfer note bin card

__________is known as automatic inventory 

system

perpetual inventory stores ledger bill of material stock transfer note perpetual inventory

An _________ system of material control 

will lead to a significant reduction in total 

cost of production 

Poor Better Efficient good Efficient 

____________ helps to prevent over 

stocking of materials 

Material control material transfer note BIN card Stores ledger Material Control 

____________ prevents loss during storage 

of raw materials 

Material control material transfer note BIN card Stores ledger Material Control 

____________ card helps the store keeper to 

control the stock 

Material control material transfer note BIN card Stores ledger BIN Card

By seeing the __________ the storekeeper 

can send the material requstion for purchase 

of material in time 

Material control material transfer note BIN card Stores ledger BIN Card

_____________ contains the accounts for 

each class of material

Material control material transfer note BIN card Stores ledger Stores Ledger 

______________ is maintained in loose leaf 

form 

Material control material transfer note BIN card Stores ledger Stores Ledger 

A ________________ gives a complete list 

of materials required for a particular job or 

work order 

Material control material transfer note BIN card Bill of material Bill of material 

_______________ serve as a purchase 

requsition to the purchase department 

Material control material transfer note BIN card Bill of material Bill of material 

_________________ method in which 

materials are issued in order when they are 

received in the store 

FIFO LIFO FFFO LFIO FIFO

___________________ method in which 

materials received last are issued first 

FIFO LIFO FFFO LFIO LIFO

The minimum quanity is known as 

______________

Base stock method Simple Avarage Method weighted avearge method Market price method Base stock method 

____________ method is determined by 

adding different prices of materials  in stock 

Base stock method Simple Avarage Method weighted avearge method Market price method Simple Avarage Method 

_____________ method takes into account 

both  quanity and price for arriving at the 

average price 

Base stock method Simple Avarage Method weighted avearge method Market price method weighted avearge method 

_______________ method is also called 

replacement method

Base stock method Simple Avarage Method weighted avearge method Market price method Market price method 



________________ method is a standard or 

a fixed price is used  for pricing the issues 

Standard price Method Simple Avarage Method weighted avearge method Market price method Standard price Method

Anything which has no value is considered 

to be ______________

wastage Scarp Spoliage materials wastage

________________ may be normal or 

abnormal 

wastage Scarp Spoliage materials wastage

______________ is sold without further 

treatement are used as raw material for 

another process 

wastage Scarp Spoliage materials Scarp

_______________ is a document which 

authorises and records the issues of materials 

for use 

Material Requstion Note Material transfer note BIN card Bill of material Material Requstion Note

Goods received note is prepared by the 

department receiving the goods from the 

____________

Supplier Customer Producer Distributor Supplier 

_________document which records transfer

of surplus from one job to another

Material control Material transfer note BIN card Stores ledger Material transfer note 

The stores department is a --------- Service department Production department Sales Advertisement Service department

The store is headed by -------- Stores Manager Storeskeeper Stores manager or 

storeskeeper

Purchase Manager Storeskeeper

The stock register shall show the ----- Receipt of materials Issue of materials The balance of materials Receipt, Issue and 

Balance of material

Receipt, Issue and 

Balance of material

Reorder level is calculated by using the 

following formula --------------

Maximum consumption 

x Maximum reorder 

period

Maximum consumption x 

Minimum reorder period

Minimum consumption x 

Minimum reorder period

Minimum level Maximum consumption x 

Maximum reorder period

In FIFO method, the----------- Old stocks issued first New stocks issued first New stocks or old stocks 

are issued first

New Stock only Old stocks issued first

In standard price method the materials are 

issued at -----

Cost price Market price Neither the cost price nor 

the market price

Standard price Neither the cost price nor 

the market price

.________ is the standard price method Basic standard price Current standard price Standard price Basic standard price 

and Current standard 

price

Basic standard price and 

Current standard price

T  X  R +% (S – T)R = Rowan plan Emerson efficiency plan Halsey premium Maslows premium Halsey premium

Wage sheets is prepared by---------- Production Purchase Sales Pay roll Pay roll

In Taylor’s differential piece rate system ------

------- piece rates are set for each job.

Two Three Four Five Two 

What is considered under Gantt task and 

bonus scheme?

Time Piece rate Bonus Piece  rate + Bonus Piece  rate + Bonus 

The taylor’s differential wage system---------- Punishes the inefficient 

workers

Encourages the efficient 

workers

Punishes the inefficient 

worker and Encourages 

the efficient workers

Awarded Punishes the inefficient 

worker and Encourages 

the efficient workers

----- is not included in the labour cost Basic pay Employer’s contribution 

to ESI

Employee’s contribution 

to provident fund

Dearness allowance Employee’s contribution 

to provident fund



Question Option - I Option - II Option - III Option - IV Answer

Overhead means____________ Indirect expenses Direct expenses Work expenses Fcatory expenses Indirect Expenses 

Classification of overhead is 

important in order to identify 

cost with _____________ 

centre

Process sales Cost production Cost 

____________  materials are 

those materials which do not 

form a part of the finished 

goods 

Direct Indirect Raw material cost of material Indirect

____________ of indirect 

materials cannot be identified 

with and allocated but can be 

apportioned to a particular 

product 

cost expenses labour sales Cost 

____________ labours which is 

not directly engaged in 

production of goods or services 

Direct indirect semi- skilled Skilled Indirect 

The wages Paid for indirect 

labour is known as 

_______________ expenses

direct indirect bonus penalty Indirect 

__________ labours helps the 

direct labour engaged in 

production 

direct Idirect bonus penalty Indirect 

__________ expenses that are 

not directly charged to 

production 

Indirect Direct overhead selling Indirect

Factory expenses is also known 

as _________________

production overhead manufacturing overhead selling overhead distribution overhead Manufacturing overhead 

___________ overhead covers 

all expenses incurred from 

stage of raw materials to 

finished goods 

production overhead factory overhead selling overhead distribution overhead Factory overhead

___________ incurred for 

running the office 

Adminstaration overhead factory overhead selling overhead distribution overhead Adminstration overhead 

___________ incurred for 

actual sales and promotion of 

sales 

administration overhead factory overhead Selling overhead distribution overhead Selling overhead 

___________ incurred for 

packing and delivery of goods 

to customers 

administration overhead factory overhead selling overhead Distribution overhead Distribution overhead 

___________ do not vary with 

the volume of products 

Fixed overhead variable overhead selling overhead semi variable overhead Fixed overhead 

____________are partly fixed 

and partly variable 

Fixed overhead variable overhead selling overhead semi variable overhead Semi variable overheads

____________ oveheads refers 

to such overhead which are 

expected to be incurred in 

attaining a given output 

Normal Abnormal Controllable Un controllable Normal 

____________ oveheads refers 

to such overhead which are not 

expected to be incurred in 

attaining a given output 

Normal Abnormal Controllable Un controllable Abnormal

_____________ cost are 

variable cost which can be 

controlled 

Normal Abnormal Controllable Un controllable Controllable 

______________ cost are fixed 

cost which cannot be controlled 

Normal Abnormal Controllable Un controllable Un controllable 

____________  materials are 

those materials which do not 

form a part of the finished 

goods 

direct Indirect Raw material cost of material Indirect 

____________ is the process of 

grouping of cost according to 

their common characterstics 

Cost Classification Cost Allocation Cost Apportionment Cost absorption Cost classification 

____________ is defined as the 

allotment of whole amount of 

cost centre or cost units 

Cost Classification Cost Allocation Cost Apportionment Cost absorption Cost allocation 

____________ is defined as the 

alloment proportions of cost to 

cost centre or cost units 

Cost Classification Cost Allocation Cost Apportionment Cost absorption Cost apportionment 

____________ means allotment 

of overheads to jobs 

Cost Classification Cost Allocation Cost Apportionment Cost absorption cost absorption 



Expenses which can be directly 

identified with a particular 

department or cost centre is 

called ______________

Cost Classification Cost Allocation Cost Apportionment Cost absorption Cost Allocation 

Allocation and apportionment 

of overhead expenses to various 

production and service 

department is known as 

_________________

Departmentalisation Cost Allocation Cost Apportionment Cost absorption Departmentalisation 

_____________ department are 

those department which enable 

other department tp work 

Service Production Sales Purchase Service 

_____________ ensures 

accuracy in cost ascertainment 

Departmentalisation Cost Allocation Cost Apportionment Cost absorption Departmentalisation 

_____________ facilitates 

work and supervision 

Departmentalisation Cost Allocation Cost Apportionment Cost absorption Departmentalisation 

____________ is esssential for 

budgetary control 

Departmentalisation Cost Allocation Cost Apportionment Cost absorption Departmentalisation 

____________ is obtained by 

dividing the amount of 

overheads by direct material 

cost 

Direct material cost percentage direct labour cost percentage prime cost percentage work cost percentage direct material cost percentage 

____________ is obtained by 

dividing the amount of 

overheads by the direct wages 

Direct material cost percentage direct labour cost percentage prime cost percentage work cost percentage Direct labour cost percentage 

____________ is obtained by 

dividing the amount of 

overhead by the prime cost 

Direct material cost percentage direct labour cost percentage prime cost percentage work cost percentage prime cost percentage 

____________ is obtained by 

dividing the amount of 

overheads by the labour hours 

Direct material cost percentage direct labour cost percentage prime cost percentage Direct labour hour percentage Direct labour hour percentage 

_____________ is obtained by 

dividing the amount of 

overheads by the macchine 

hours 

Direct material cost percentage direct labour cost percentage machine Hour rate Direct labour hour percentage machine hour rate 

Overheads in cost accounts are 

usually the basis of 

_____________

Estimate Rates Fixed rates Variable rates semivariable rates Estimated rates 

____________ report helps the 

management in decision 

making 

Audit cost estimated historical cost Audit

____________ method helps to 

compare the efficiencies and 

cost of operating different 

machines 

Direct material cost percentage direct labour cost percentage Machine Hour rate Direct labour hour percentage Machine hour rate 

Under absorption, the 

overheads absorbed in 

production less than the 

_________ overhead 

Actual work selling overhead distribution overhead Actual 

____________ absorbtion 

means that the overhead 

absorbed in production are 

more than that of actual 

overhead

under Over Fixed Variable Over 

____________ rate is the cost 

of running a machine per hour 

Labour per hour Machine Hour wage hour indirect labour hour machine Hour 

Each machine or group of 

machine is treated as a cost 

centre in order to identify the 

____________ expenses 

Fixed overhead Direct overhead Variable overhead Semi variable overhead fixed overhead 

Standing charge is also known 

as ____________

Fixed overhead Direct overhead Variable overhead Semi variable overhead fixed overhead 

Machine expenses is also 

known as__________

Variable expenses Fixed Expenses Semi variable Expenses Direct expenses Variable Expenses 

State the bases of 

apportionment for rent 

Floor area value of plant value of stock value of materials Floor area 

State the bases of 

apportionment for lighting 

Light points value of plant value of stock value of materials Light points 

State the bases for 

apportionment of depriciation 

of plant and macinery 

Light points value of plant value of stock value of materials Value of plant 

State the bases of 

apportionment for insurance of 

stock 

Light points value of plant value of stock value of materials value of stock 

State the bases of 

apportionment for material 

handling charges 

Light points value of plant value of stock value of materials Value of materials 

State the bases of 

apportionment of supervision 

No. of, Employees value of plant value of stock value of materials No.of, Employees



State the bases of 

apportionment of repairs to 

plant 

No. of, Employees value of plant value of stock value of materials Value of plant 

Each machine or group of 

machine is treated as a cost 

centre in order to identify the 

____________ expenses 

Fixed overhead Direct overhead Variable overhead Semi variable overhead fixed overhead 

Canteen expenses is 

apportionmet based on 

_________________

No.of, Employees value of plant value of stock value of materials No.of, Employees

State the bases for 

apportionment of indirect 

materials 

Direct Materials value of plant value of stock value of materials Direct materials 

State the bases for 

apportionment of indirect 

wages 

Direct Materials Direct wages value of stock value of materials Direct wages 

State the bases for 

apportionment of municipal 

taxes

Floor area value of plant value of stock value of materials Floor area 

State the bases for advertising Actual Expenses value of plant value of stock value of materials Actual Expenses 

______________ is the process 

of distribution of overheads to 

various departments 

Cost Classification Cost Allocation Cost Apportionment Cost absorption Cost Apportionment 

_____________ method 

depends upon the type and size 

of the business 

Cost Classification Cost Allocation Cost Apportionment Cost absorption Cost Classification 

_____________ is process of 

charging the full amount of 

overhead without division 

Cost Classification Cost Allocation Cost Apportionment Cost absorption Cost Allocation 



Question Option - I Option - II Option - III Option - IV Answer

___________ is the 

production carried on 

against specific orders 

from customers 

Process costing Job costing Unit costing Contract costing Job costing 

___________ 

accumulated for each 

job 

Cost price unit sales Cost 

Job costing is a 

method of 

____________ cost 

of an individual job 

Cost allotment Ascertainment of cost allocation of cost classification of cost Ascertainment of cost

Each job is treated as 

a cost unit for which 

costs are __________

ascertined accumulated collected changed accumulated 

Job costing shows the 

cost and_________ of 

each job 

profit& losss profit loss revenue  cost profit 

____________ 

method of costing 

adopted in printing 

press 

Process costing Job costing Unit costing Contract costing Job costing 

Job costing is also 

known as _________

terminal costing Job costing Unit costing Contract costing terminal costing 

Specific order costing 

is also known as 

___________

Process costing Job costing Unit costing Contract costing Job costing 

In_________ costing 

the production is 

always against the 

customer order 

Process costing Job costing Unit costing Contract costing Job costing 

The cost data 

provided by job 

costing helps in 

_________________

Decision making Planning Cost control cost Reduction Planning 

Cost reordered under 

job costing help in 

preparation of 

_________________

___

Report Budget Cost Data Selling Price Budget 

Operating costing is 

also called 

_________________

Process Job costing Contract costing Service costing Service Costing 

____________ is a 

method of costing 

applied to ascertain 

the cost of providing a 

service 

Operating Costing Job costing Contract costing Service costing Operating Costing 

______________ 

type of costing used 

in transport services 

Operating Costing Job costing Contract costing Service costing Operating Costing 

Service rendered in 

the same 

oraganisation is 

known as 

_________________

__

Internal Service External Service Both Costing Service Internal Service 

______________ 

percent is calculated 

by dividing the toatl 

cost by number of 

service units 

produced or renderd 

Operating Costing Job costing Contract costing Service costing Operating Costing 



A proper cost unit 

must be selected in 

oredr to ascertain  the 

______________ unit 

of services

Cost Demand Sales Supply Cost 

Other name of service 

costing 

_____________

Operating Costing Job costing Contract costing Service costing Operating Costing 

Industries using 

____________ 

costing do not 

produce goods but 

render service 

Operating Costing Job costing Contract costing Service costing Operating Costing 

Service rendered to 

the customers is 

known as 

_______________

Internal Service External Service Both Costing Service External service 

Example of external 

services___________

_____

Hospital Manufacttuting industry service outlet distributors Hospital

In ____________ 

case only one variable 

is taken 

Simple cost unit composite cost unit Multiple cost unit single cost unit simple cost unit

In ____________ 

case more than one 

variabke is combined 

Composite costing multiple costing single unit costing opertaing costing Composite costing 

The basic problem in 

_________________ 

costing is the 

selection of cost unit 

Composite costing multiple costing single unit costing Opertaing costing Operating Costing 

____________ 

changes are incurred 

weather the vechicle 

is running or not 

Standing Charges operating charges maintenance charges variable charges Standing charges 

In Standing charges 

variables are 

____________ in 

nature 

Fixed Variable Semivariable Changed Fixed 

_________________

_ is one of the 

example of standing 

charge 

Rent Salary Fuel Power Rent 

_________________ 

expenses isvariable in 

nature 

Standing Charges operating charges maintenance charges variable charges Operating charges 

________________ 

is an example of 

operating charge 

Pertol/ diesel  annual tax Insurance Rent Petrol/Diesel 

________________ 

charges are semi 

variable in nature 

Standing Charges operating charges Maintenance charges variable charges Maintenance charges 

________________ 

is an example of 

maintenance charge 

Repairs Depreciation Wages Annual Tax Repairs 

Garrage rent will 

occur in 

______________

Fixed cost Variable Cost Maintenance Cost Operating Cost Fixed Cost 

Tax and insurance 

will occur in 

______________ 

Fixed cost Variable Cost Maintenance Cost Operating Cost Fixed Cost 

General supervision 

will occur in 

______________

Fixed cost Variable Cost Maintenance Cost Operating Cost Fixed Cost 

Tyres and tube cost 

will appear in 

_____________

Fixed cost Variable Cost Maintenance Cost Operating Cost Maintenance cost 

Repair cost will 

appear in 

______________

Fixed cost Variable Cost Maintenance Cost Operating Cost Maintenance cost 



Painting Cost will 

appear in 

___________ 

Fixed cost Variable Cost Maintenance Cost Operating Cost Maintenance cost 

Pertol, oil, grease 

Cost will incurr in 

_______________

Fixed cost Variable Cost Maintenance Cost Operating Cost Operating Cost 

Wages of operators 

will incurr in 

_____________ cost 

Fixed cost Variable Cost Maintenance Cost Operating Cost Operating Cost 

Depriciation will 

incur in 

____________ cost 

Fixed cost Variable Cost Maintenance Cost Operating Cost Operating Cost 

___________is a 

example for transport 

services

Tramways Gas supply Water supply Hospitals Tramways

___________is a 

example for transport 

services

Railways Gas supply Water supply Hospitals Railways

___________is a 

example for transport 

services

Bus transport Gas supply Water supply Hospitals Bus transport

___________is a 

example for supply 

services

Bus transport Gas supply Railways Tramways Gas supply

___________is a 

example for supply 

services

Bus transport Electricity supply Railways Tramways Electricity supply

___________is a 

example for supply 

services

Bus transport Water supply Railways Tramways Water supply

___________is a 

example for welfare 

supplies

Tramways Gas supply Water supply Hospitals Hospitals

___________is a 

example for welfare 

supplies

Tramways Gas supply Water supply Canteens Canteens

___________is a 

example for welfare 

supplies

Tramways Gas supply Water supply Libraries Libraries

___________is a 

example for munipal 

service

Street lighting Gas supply Water supply Libraries Street lighting

___________is a 

example for munipal 

service

Road Maintenance Gas supply Water supply Libraries Road Maintenance

___________is a 

example for transport 

services

Airways Gas supply Water supply Hospitals Airways

In 

_________________ 

semi variable 

expenses are included

Maintenance charges Fixed charges Operating charger Repair charges Maintenance charges

______________ 

charges are incurred 

inspite of the 

kilometeres run

Maintenance charges Standing charges Operating charger Repair charges Standing charges

________________ 

is also know as fixed 

charges

Maintenance charges Standing charges Operating charger Repair charges Standing charges

If the job is accepted, 

a _______________ 

is made by the 

planning department

Prodution order Sales order Purchased order Stores order Prodution order



If the job is accepted, 

a production order is 

made by the 

_________________

_ department

Prodution Sales Planning Marketing Planning 

The prepartion of 

_________________

____ is similar to that 

of job cost sheet

Unit cost sheet Service cost sheet Batch cost sheet Farm cost sheet Batch cost sheet

The prepartion of 

Batch cost sheet is 

similar to that of 

___________ 

Unit cost sheet Service cost sheet Job cost sheet Farm cost sheet Job cost sheet

Batch cost per unit = Total cost of a batch / 

number of items 

produced in the batch

Total cost of a batch + 

number of items 

produced in the batch

Total cost of a batch -

number of items 

produced in the batch

Total cost of a batch x 

number of items 

produced in the batch

Total cost of a 

batch/number of items 

produced in the batch



Question Option - I Option - II Option - III Option - IV Answer

____________ is a method of 

costing to findout the cost of a 

product at each stage or process of 

production 

Process costing Job costing Unit costing Contract costing Process costing 

There are certain industries where 

the _____________ passes through 

the different stages of a product 

Goods Product Raw material Sales Raw material 

Process costing is used to find out 

____________ of the product at 

the end of each stage  

Cost Expenses Unit costing Income Cost 

____________ are collected for 

each process and debited to the 

process account 

Overhead Direct wages Direct labour Indirect wages Overhead

____________  is arrived by 

dividing the total process cost by 

the number of units produced 

Total cost Product expenses Cost per unit sales cost Cost per unit 

____________ cost of the finished 

product is the sum of all costs 

incurred in all the process 

Total cost Product expenses Cost per unit sales cost Total Cost 

In ____________ the production is 

carried out in anticipation of 

demand 

Process costing Job costing Unit costing Contract costing Process costing 

In_____________ the costs are 

computed periodcally for each 

process 

Process costing Job costing Unit costing Contract costing Process costing 

_____________ are transferred 

from one process to another 

process

Process costing Job costing Unit costing Contract costing Process costing 

In____________ the paper work is 

compartively less 

Process costing Job costing Unit costing Contract costing Process costing 

____________ loss refers to the 

loss which is un avoidble in a 

manufacturing process 

Normal Abnormal Controllable Un controllable Normal 

____________ value of normal 

loss units in credited to process 

account 

Usable Realisable Unusable controllable Realisable

The cost of normal loss is treated 

as a part of ___________

Sales value Cost of production Cost of sales cost per unit Cost of production 

___________ loss refers to the 

avoidable loss 

Abnormal Loss Normal Loss Avoidable Loss Unavoidable loss Abnormal Loss 

___________ can be estimated in 

advance 

Abnormal Loss Normal Loss Avoidable Loss Unavoidable loss Abnormal Loss 

Abnormal loss arises when the 

actual loss is more than the 

___________ losses 

Abnormal Loss Normal Loss Avoidable Loss Expected Loss Expected Loss 

The cost of abnormal loss is not 

included in the ______________

Sales value Cost of production Cost of sales cost per unit Cost of production 

___________ gain arises when the 

actual output is higher than the 

expected normal output 

Normal Gain Abnormal Gain Expected Gain Less Gain Abnormal Gain 

Abnormal gain is treated on 

________________ of cost of 

production 

usable Recovery wastage useful Recovery 

Inter process profit is the 

difference between transfer price 

and ______________

Unit price cost price abnormal price normal price Unit price 

Cost are not transferred except 

when there is _____________ 

production 

low high Surplus defecit Surplus 

Process costing facilitates correct 

___________

Value of stock high surplus defecit Value of stock 

Process costing is based on 

______________ cost 

Future cost Historical cost estimate cost prime cost Historical cost 

Each___________ is treated as a 

cost unit 

unit price process Contract Unit Contract 

Contracts are generally of a 

______________ duration 

Long Short medium very long Long 

_____________ costing is mainly 

adopted in construction of bridges 

Process costing Job costing Unit costing Contract costing Process costing 

The number of contract undertaken 

are usually ______________

High Small Medium Very Low Small 

 _________ price is paid in 

installments depending on the 

process of work 

Process costing Job costing Unit costing Contract costing Contract Costing 

Contract costing is a form 

of____________ costing 

Specific order costing Job costing Unit costing Contract costing Specific order costing 



A separate ____________ account 

is prepared for each contract 

Contract Unit Job Specific Contract 

_____________ cost usually 

constitute a major portion of the 

total cost of the contract 

Direct Indirect Fixed Variable Direct 

____________ cost usually 

constitue a small portion of the 

total cost of contract 

Direct Indirect Fixed Variable Indirect 

The direct labour cost incurred on 

the contract is _____________ to 

the contract account 

Debited Credited Enetered Fixed Debited 

The direct expenses incurred for 

the contract is also __________  to 

the contract account 

Debited Credited Enetered Fixed Debited 

____________ which cannot be 

directly charged to contract

Dircet expenses Indirect Expenses Fixed Expenses Variable Expenses Indirect Expenses 

____________ contracts take a 

long time for completion and 

require huge investments 

Large Small Medium Very High Large 

___________ money is paid to the 

contractor after the expiry of a 

stipulate time 

usable Recovery wastage useful Recovery 

_____________ is treated as a 

reserve 

Notional profit recovery wastage useful Notional Profit 

The _________ price is paid in 

installments depending on the 

process of work 

Process costing Job costing Unit costing Contract costing Contract Costing 

____________ is a contract in 

which the contractee agrees to pay 

the cost of work done plus a 

percenatge of it towards profit 

Cost + contract Escalation clause Retention money Unit Contract Cost + contract 

In which contract _____________ 

is assured as a fixed percentage of 

profit 

Cost + contract Escalation clause Retention money Unit Contract Cost + contract 

__________ clause is in contract 

agreement 

Cost + contract Escalation clause Retention money Unit Contract Escalation clause 

__________ product refers to the 

secondary product obtained during 

the course of manufacturing the 

main product 

Substitute Joint By product Related product By product 

Value of closing stock 

of____________ is considerd as 

zero for the purpose of balance 

sheet 

Substitute Joint By product Related product By product 

______________ expenses are 

incurred for selling the by products 

Selling and distribution Production purchase Raw material expenses Selling and distribution 

_____________ by products are 

valued at the current market price 

Replacement Method Standard Cost method Apportionment Method Allocation Method Replacement Method 

_____________ by products are 

valued at standard cost 

Replacement method Standard Cost method Apportionment Method Allocation Method Standard cost Method

____________ products refers to 

two or more prodcucts of equal 

importance which are prodcuced 

from same raw material 

Substitute Joint By product Related product Joint

____________ has its own price 

and market utility 

Substitute Joint Product By product Related product Joint Product 

If  work completed 

_____________ of the contract 

price is taken to profit and loss 

account 

one fourth two fourth three fourth one fifth One fourth 

______________ contracts such as 

constuctions of bridges, theatres 

and hospitals takes a long time to 

complete 

Large small medium Very small Large 

__________________ represents 

production of a process in terms of 

completed units

Equivalent production Unequivalent 

production

Normal production Abnormal production Equivalent production

Formula for equivalent units of 

work in progress = 

Actual no of units in 

progress of manufacture x 

percentage of work 

completed

Actual no of units in 

progress of manufacture 

+ percentage of work 

completed

Actual no of units in 

progress of manufacture -

percentage of work 

completed

Actual no of units in 

progress of manufacture 

/ percentage of work 

completed

Actual no of units in progress 

of manufacture x percentage 

of work completed

There are _______________steps 

in calculation of equivalent 

production

3 4 2 5 3



There are _______________ 

elements of production cost

3 4 2 5 3

_________________is the first 

element of production cost

Material Labour Production overhead overhead Material

_________________is the second 

element of production cost

Material Labour Production overhead overhead Labour

_________________is the third 

element of production cost

Material Labour Production overhead overhead Production overhead

There are 

____________________methods 

of apportionment of joint cost

3 4 6 5 6

The term ___________________ 

is generally used by businessmen 

and accountant to denote the one 

or more product of relatively small 

value that are produced 

simultaneously with a product of 

greater value

By Product Product Sub Product Product Line By product 
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